UGC NET 2021 Sanskrit

Topic:- Sanskrit_Set2_A

1) ‘sigiat o pftifdrg pua ford W4 a8 ARG ' 371 Ao oadl @1?[Question ID = 1451][Question Description =
S2_qSNz_PG_SANS_QO01]

1. g [Option ID = 5801]

2. fpaa: steme [Option ID = 5802]

3. w@ft: [Option ID = 5803]

4. wau: [Option ID = 5804]

2) srerdadia - rsgrftratior - e Saar o1?[Question ID = 1452][Question Description = S2_qSNz_PG_SANS_Q02]
1. Imcag [Option ID = 5805]

2. steraf [Option 1D = 5806]

3. gewrufr: [Option ID = 5807]

4. crfdraorer [Option ID = 5808]

3) ‘ufSad Sareri gad sfer wep?[Question ID = 1453][Question Description = S2_qSNz_PG_SANS_Q03]
. sfasferon [Option ID = 5809]

. slistoturaoie [Option ID = 5810]

. dolcaalrd [Option ID = 5811]

. g - Al [Option ID = 5812]

A W N -

4) qrerrledy avis siucsaa?[Question ID = 1454][Question Description = S2_qSNz_PG_SANS_Q04]
1. yomsteswr: [Option ID = 5813]

2. oruvn cliromd [Option ID = 5814]
3. amerer: [Option ID = 5815]

4. wavaxgzr [Option ID = 5816]

5) 'of YBIvIRIl of YADIRT:' 3 Aoqidl "JADIRT:' sfer ug ARVIGTARAUAISFa?
[Question ID = 1455][Question Description = S2_qSNz_PG_SANS_QO05]

1. @uPn:

[Option ID = 5817]
2. yax

[Option ID = 5818]
3. ssfeast:

[Option ID = 5819]
4. e

[Option ID = 5820]

6) 'USIol ASPRISIo SaT:' - $ie1 Aoqidl "ase] sfer uc arsadR - ArmIgRIRAIsRa?[Question ID = 1456][Question Description =
S2_qSNz_PG_SANS_QO06]

. yafey [Option ID = 5821]

. sftrfsa [Option ID = 5822]

. 9fierrser [Option ID = 5823]

. aigae [Option ID = 5824]

A w N =

7) 'Jr ol ceng iz R emdrforenafor’ 3rq Fqaon ¢t w1?[Question ID = 1457][Question Description = S2_qSNz_PG_SANS_QO07]
1. 3wz [Option ID = 5825]

2. sfr: [Option ID = 5826]

3. ar@ [Option ID = 5827]

4. sizzach [Option ID = 5828]

8) speacyIferomRIGRIR FpasisRa?[Question ID = 1458][Question Description = S2_qSNz_PG_SANS_QO08]
1. fowmetir: [Option ID = 5829]

2. 3eeagr: [Option ID = 5830]

3. 3iier: [Option ID = 5831]

4. 3eenf3t: [Option ID = 5832]

9) ‘Higufoameaad], "Tenftieaad oIl JAsdoel add -[Question ID = 1459][Question Description = S2_qSNz_PG_SANS_QO09]
. dlgaoforal [Option ID = 5833]

. Slosforer [Option ID = 5834]

. amafwsefdor [Option ID = 5835]

. arIgofalel [Option ID = 5836]

A w N =

10) AercololoRAR ATdHIAGAY B 39Tl o srafer?[Question ID = 1460][Question Description = S2_qSNz_PG_SANS_Q10]



$eaeyforerorr [Option ID = 5837]
=1 [Option ID = 5838]
st [Option ID = 5839]
smf¥se [Option ID = 5840]

A W N -

11) APGGIERIR FRE: sioldl w3 forgor:?[Question ID = 1461][Question Description = S2_qSNz_PG_SANS_Q11]
1. Sf¥a - e - srdwnfer [Option ID = 5841]
2. &R - &Il - AARRE [Option ID = 5842]
3. @1 - BormT - yemmerz [Option ID = 5843]
4. offg - iAW - auifdr [Option ID = 5844]

12) AcreobolopAaratisiymay gferdded

[Question ID = 1462][Question Description = S2_qSNz_PG_SANS_Q12]
siféam [Option ID = 5845]

. R [Option ID = 5846]

. forgr [Option ID = 5847]

. gerarlag [Option ID = 5848]

A W N -

13) srelsg oferen ag 3=id -[Question ID = 1463][Question Description = S2_qSNz_PG_SANS_Q13]
wafder: [Option ID = 5849]
. agffer: [Option ID = 5850]
arefer: [Option ID = 5851]
gafder: [Option ID = 5852]

A W N -

14) crolocyviid deleaRIR Al 31 sravsElidieay fiy Adcdy 3R onfl¥a
[Question ID = 1464][Question Description = S2_qSNz_PG_SANS_Q14]
1. UGa: AGAGIEDBIVITRE
[Option ID = 5853]
2. ucreRNfdoquIfdorersma:
[Option ID = 5854]
3. sryaRigredot:
[Option ID = 5855]
4. YrIIIHCISIURICIgICISIUI:
[Option ID = 5856]

15) DIEBIYIGRIR IPPIHARRIfoIPHRINGIEUREIR -

[Question ID = 1465][Question Description = S2_qSNz_PG_SANS_Q15]
agl: - acd [Option ID = 5857]

agl: - aecyuw [Option ID = 5858]

9L - grsaeaq [Option ID = 5859]

dgl: - aeeqa] [Option ID = 5860]

A wWN =

16) izacIfyerI ‘Hard upelcard solol 3qet e -[Question ID = 1466][Question Description = S2_qSNz_PG_SANS_Q16]
gzu: [Option ID = 5861]

srerepa [Option ID = 5862]

#iec [Option ID = 5863]

s [Option ID = 5864]

A W N -

17) siensfEFoay oreslemnig sfoel onf¥a
[Question ID = 1467][Question Description = S2_qSNz_PG_SANS_Q17]
1. g& -oIecogoRa:
[Option ID = 5865]
2. oy - AeogIAI:
[Option ID = 5866]
3. yeldied:
[Option ID = 5867]
4. aedRrengqfen:
[Option ID = 5868]

18) wifirefia RISIGIRIRYY sreUIG®RI SIuIsa

[Question ID = 1468][Question Description = S2_qSNz_PG_SANS_Q18]
. &=fx [Option ID = 5869]

. geaz: [Option ID = 5870]

aficlt [Option ID = 5871]

. meRfer [Option ID = 5872]

A W N -

19) B~ PREIGRIR 3], g, § (HIY 3rcu Yu1) &deilel af¥aderas: @: ?[Question ID = 1469][Question Description =



S2_qSNz_PG_SANS_Q19]
3 — & ;q —o; a — i [Option ID = 5873]
3 — A(; q — &; 4 — w [Option ID = 5874]
3 — @; g — d; 4 — Y [Option ID = 5875]

3 —@; g — &; a — v [Option ID = 5876]

A wWN =

20) srensfFpar] HRIURI UlaRIGRIR daan sirdr 9rad asisRa?[Question ID = 1470][Question Description =
S2_qSNz_PG_SANS_Q20]

drardt [Option ID = 5877]

. affa [Option ID = 5878]

smffeft [Option ID = 5879]

®feew [Option ID = 5880]

A W N -

21) ‘sreameddy 3rq] dadt: JAARE: [Question ID = 1471][Question Description = S2_qSNz_PG_SANS_Q21]
gog: [Option ID = 5881]

sreerfterra: [Option ID = 5882]

acgow: [Option ID = 5883]

. @gdifs: [Option ID = 5884]

A W N -

22) 3Iirad ADPJVMGRIR "Hafel’ sI=T @I 35 sMfa ?[Question ID = 1472][Question Description = S2_qSNz_PG_SANS_Q22]
. Ademarzenaid [Option ID = 5885]

. 91 [Option ID = 5886]

. Rrot [Option ID = 5887]

. ucd [Option ID = 5888]

AW N =

23) ¥ yeRIeRIRALNSIFEaY STy ycried: orscisi¥a -[Question ID = 1473][Question Description = S2_qSNz_PG_SANS_Q23]
aaodt [Option ID = 5889]

. &<t [Option ID = 5890]

sraroft [Option ID = 5891]

st [Option ID = 5892]

A W N -

24) formaydefientaoel sreamad: 6 sl srafer?

[Question ID = 1474][Question Description = S2_qSNz_PG_SANS_Q24]
1. SiffrpIvRis:
[Option ID = 5893]
2. pafiET:
[Option ID = 5894]
3. DRI

[Option ID = 5895]
4. SUIGIeRIST:

[Option ID = 5896]

25) ‘3R grgrEmrt: A9l fver =1 aq sfe adot add -

[Question ID = 1475][Question Description = S2_qSNz_PG_SANS_Q25]
sietogaelor=r [Option ID = 5897]

gllogza [Option ID = 5898]

st [Option ID = 5899]

freqetrers=r [Option ID = 5900]

A W N -

26) 'araRi RAENSRAAIDISIRITRITD: USITRE:'
3¢ ARRAOU YferuifiSadcrivl sole -

[Question ID = 1476][Question Description = S2_qSNz_PG_SANS_Q26]
amrart - #wRer [Option ID = 5901]

3R] - stelegatdalel [Option ID = 5902]

sirarf - fedomdor [Option 1D = 5903]

3R - amtelet [Option ID = 5904]

AW N =

27) 'safedad scaRA IolPR: add -

[Question ID = 1477][Question Description = S2_qSNz_PG_SANS_Q27]
ofied: [Option ID = 5905]

. &dda: [Option ID = 5906]

qmrerg: [Option ID = 5907]

smfa: [Option ID = 5908]

A w N =

28) ‘'gen f3vd gfRrenqured AR Al G
3¢ adol i3l BIY farerafer?
[Question ID = 1478][Question Description = S2_qSNz_PG_SANS_Q28]



1. gorIRl

[Option ID = 5909]
2. IazerEisa

[Option ID = 5910]
3. fpaamei

[Option ID = 5911]
4. ggats

[Option ID = 5912]

29) ‘oraei HenIEI fAcH! o3 Stetuc: af¥ere] HIST dor YUY ----'

3fel sTEravs ®Il FeIrRI fdery ?

[Question ID = 1479][Question Description = S2_qSNz_PG_SANS_Q29]
. ¥aweraridcad [Option ID = 5913]

. @resqal [Option ID = 5914]

. gargARaf¥d [Option ID = 5915]
. sdaf¥d [Option ID = 5916]

A WN -

30) ara: SifdREIRNfoA gFraufIoN:

SIS DIl IFHATGoID] RA: D:

sfe1 uzi BRI PIA frerafer ?

[Question ID = 1480][Question Description = S2_qSNz_PG_SANS_Q30]

. gorgaRatya [Option ID = 5917]

. @rgsgats [Option ID = 5918]
. foraarst fasry [Option ID = 5919]
. olcrasg @1l [Option ID = 5920]

AW N =

31) "AldolRds T YRI: IR EIcygiiciolforsfenitl wresagurnfer gi:" sfer doiufésea?[ Question ID = 1481][Question Description =
S2_qSNz_PG_SANS_Q31]

. ammdier [Option ID = 5921]

. dgrfidar [Option ID = 5922]

. gpeirlel [Option ID = 5923]

. asrdcrn [Option D = 5924]

A W N -

32) A vnFfifr srifer SeIfoa wIARIE:

BIAISIU eTof, AT YOI of &d dcldf '

A3 ULl &: ICIPRI arid ?

[Question ID = 1482][Question Description = S2_qSNz_PG_SANS_Q32]
. fomiRp: [Option ID = 5925]

. fsmae [Option ID = 5926]

. fergeferr [Option ID = 5927]

. geerRIBr [Option ID = 5928]

A W N -

33) ‘SirErer: sfFadmaAdRa AT FUSerd el fARE: AARIRT Bire] wws aftfdist3a ?[Question ID = 1483][Question Description =
S2_qSNz_PG_SANS_Q33]

. @S [Option ID = 5929]

. 3Rl [Option ID = 5930]

. aruawm [Option ID = 5931]

. fpResenemws [Option ID = 5932]

A wWw N =

34) FAEHRARI HIICIHID B e forconsFa?[Question ID = 1484][Question Description = S2_qSNz_PG_SANS_Q34]
. srPpeerRs [Option ID = 5933]

. Rioweppers [Option ID = 5934]

. aRadeerRs [Option ID = 5935]

. #BBIRAEeR [Option ID = 5936]

A W N -

35) wfafermsiicaagica: geliferascufe: ford -

[Question ID = 1485][Question Description = S2_qSNz_PG_SANS_Q35]
1. Aol

[Option ID = 5937]
2. foforfdmsreiferfta: frmignser: ar

[Option ID = 5938]
3. RIMBOIRN: SRASD - SR

[Option ID = 5939]
4. fforfoper: Aol (BiinRileam) fifta:

[Option ID = 5940]



36) dopId FauRBicacIRrD! i <srIe] JigeRila?[Question ID = 1486][Question Description = S2_qSNz_PG_SANS_Q36]
1. sieifdear [Option ID = 5941]

2. smsweifica [Option 1D = 5942]

3. sweifeear [Option ID = 5943]

4. aafdca [Option ID = 5944]

37) ursiacaareRiR Haferaat cust: giepr: -[Question ID = 1487][Question Description = S2_qSNz_PG_SANS_Q37]
1. 3wwrasar: [Option ID = 5945]

2. wsprRIsAr: [Option ID = 5946]

3. SweierRmeAn: [Option ID = 5947]

4. sewrmsan: [Option ID = 5948]

38) A9MNERIVE: AogARFAFICRAGRIR AN BRI Sa=T Jdrdoli BRI -

[Question ID = 1488][Question Description = S2_qSNz_PG_SANS_Q38]
1. R [Option ID = 5949]

2. fwit: [Option ID = 5950]

3. smierwr [Option ID = 5951]

4. gwre [Option ID = 5952]

39) wifeciRmeiaRqoRIR @ IsIofssaRlfassod? [ Question ID = 1489][Question Description = S2_qSNz_PG_SANS_Q39]
1. for=m: [Option ID = 5953]

2. gmqa: [Option ID = 5954]

3. gem: [Option ID = 5955]

4. disser: [Option ID = 5956]

40) 319N 9NGaEPIGH - fdrencraz=r faftri¥a -[Question ID = 1490][Question Description = S2_qSNz_PG_SANS_Q40]
1. greft [Option ID = 5957]

2. 3aamr [Option ID = 5958]

3. At [Option ID = 5959]

4. gmar [Option ID = 5960]

41) IIAULYIGIVRRI JAHADBIVSH fareril oI ?
A. 3ifSoralgey
B. AerIeT:

C. IR

D. ftmsﬁqaﬁ:

[Question ID = 1491][Question Description = S2_qSNz_PG_SANS_Q41]
1. Awd B [Option ID = 5961]
2. Bud C [Option ID = 5962]
3. Cwd D [Option ID = 5963]
4. Avud D [Option ID = 5964]

42) ARAGH JrEvpEfeel @i ¥d:?
A. TaRI - BT

B. usafdor - gremwmg

C. 9NMRIGI - BV

D. d9r gramwEL

[Question ID = 1492][Question Description = S2_qSNz_PG_SANS_Q42]
1. Awd B [Option ID = 5965]
2. Bud C [Option ID = 5966]
3. Bwd D [Option ID = 5967]
4. Cud D [Option ID = 5968]

43) FAHAAGT AR FA: ?
A. arge - ifdar

B. oncariei - dfdar
C. oftrsoe - @0 - Jifdar
D. Sifdreli - sifdar

[Question ID = 1493][Question Description = S2_qSNz_PG_SANS_Q43]
1. Awd C [Option ID = 5969]
2. Bwd D [Option ID = 5970]
3. Bud C [Option ID = 5971]
4. Cud D [Option ID = 5972]



44) srerddea oA ¥4 ?
A. sif¥gdi=r - sfgar

B. ofiorm - Jfdar

C. sprer - Afdar

D. Yuetrs - wAfder

[Question ID = 1494][Question Description = S2_qSNz_PG_SANS_Q44]
1. Awd C [Option ID = 5973]
2. Awd D [Option ID = 5974]
3. Bwd D [Option ID = 5975]
4. Cud D [Option ID = 5976]

45) ‘'stoel aar: gfaerfed A sAFfguRIa
adl 3T 59 o d: A 3 AT 3L " 3] Hoe)|
‘sradyfer - JFyfer’ - uca: arell wi?

A. fapfer:

B. gofer:

C. oRigs!

D. aifeemrorn:

[Question ID = 1495][Question Description = S2_qSNz_PG_SANS_Q45]
1. Awd B [Option ID = 5977]
2. Bud C [Option ID = 5978]
3. Cwd D [Option ID = 5979]
4. Avud D [Option ID = 5980]

46) sreloIBIRIR SORINIGR FaIlold, acd fefel, 5 aa?

A. ursAIc9Ie

B. 3oIcOTGIRAIG9RI3]

C. ACARHIRIATS A

D. sfisirRngee

IR facu Riga

[Question ID = 1496][Question Description = S2_qSNz_PG_SANS_Q46]
1. Awd B [Option ID = 5981]

2. Avwd C [Option ID = 5982]

3. Bud C [Option ID = 5983]
4. Cud D [Option ID = 5984]

47) wizamityorn fofaer: wef: (siiforo! difgmea) vdeonemsi add -

A. deaIgR=T:

B. fergemRer:

C. IR - TIRIRRL:

D. smarsr:

[Question ID = 1497][Question Description = S2_qSNz_PG_SANS_Q47]
1. Awd C [Option ID = 5985]

2. Avud B [Option ID = 5986]

3. Bud D [Option ID = 5987]
4. Cuwd D [Option ID = 5988]

48) 3OIDIHGADBSATHIRIRI Bl HI YPRI il ABHTIRIT

A. e

B. arcyferust:

C. SRITERL:

D. snernf¥ig:

[Question ID = 1498][Question Description = S2_qSNz_PG_SANS_Q48]



. Awd B [Option ID = 5989]
. Avwd C [Option ID = 5990]
. Bud D [Option ID = 5991]
. Cwd D [Option ID = 5992]

A W N -

49) senfaRaay gradl RBirgleazeuvr digeolor T -

A. orssforeadrars:

B. yicragcure:

C. sausofior:

D. sgifdrpars:

[Question ID = 1499][Question Description = S2_qSNz_PG_SANS_Q49]
1. Awd C [Option ID = 5993]
2. Bud D [Option ID = 5994]
3. Bwd C [Option ID = 5995]
4. Cud D [Option ID = 5996]

50) dereaRIR aqfderycRriRy & s ¥a:

A. orEE

B. Srergete

C. 3USsi

D. drrmsI

[Question ID = 1500][Question Description = S2_qSNz_PG_SANS_Q50]
. Awd C [Option ID = 5997]
. Bud C [Option ID = 5998]

. Awd D [Option ID = 5999]
. Bwd D [Option ID = 6000]

A W N -

51) selsfiEmay urafsieieiRy el ¥a: -

A. 31

B. ¥

C.s

D.q

[Question ID = 1501][Question Description = S2_qSNz_PG_SANS_Q51]
1. Awd D [Option ID = 6001]

2. Bud D [Option ID = 6002]

3. Cud D [Option ID = 6003]
4. Awd C [Option ID = 6004]

52) 3reReY dAIG: Aol ?

A. udssifer: ABBITRIBR:

B. wifcrcrr:

C. sloihr:

D. orezzamit

[Question ID = 1502][Question Description = S2_qSNz_PG_SANS_Q52]
1. Awd C [Option ID = 6005]

2. Buwd C [Option ID = 6006]

3. Cud D [Option ID = 6007]
4. Bud D [Option ID = 6008]

53) srensfyoay eRid: JFacensia ?
A. @px

B. cifdfor:

C. emayfass: Fer:

D. smaodivin:



AR fed R -
[Question ID = 1503][Question Description = S2_qSNz_PG_SANS_Q53]
1. AwdB

[Option ID = 6009]
2. AudC

[Option ID = 6010]
3. BwiC

[Option ID = 6011]
4. AwdiD

[Option ID = 6012]

54) AITIUSRIGRAR cyalatRl & weol 3frd ¥d: ?

A. onSafsadisimrmeg

B. sronfe freri 9@

C. ggl orscIsasria

D. uwdd Acolrd ool orftboIuTgRIT

[Question ID = 1504][Question Description = S2_qSNz_PG_SANS_Q54]
1. AwdB

[Option ID = 6013]
2. BwaC

[Option ID = 6014]
3. BudD

[Option ID = 6015]
4. CudD

[Option ID = 6016]

55) WEHITRIGRIR GAIGABIIA: Addeensia?

A. gre: gres:

B. 3puil o1 3:

C. waturog

D. feifep adfoa

[Question ID = 1505][Question Description = S2_qSNz_PG_SANS_Q55]
1. Awd C [Option ID = 6017]

2. Buwd D [Option ID = 6018]

3. Awud B [Option ID = 6019]
4. Avwd D [Option ID = 6020]

56) uag slicd g AGIDIA sragifer fRrRd snf¥a

A. frayirdofizeg

B. Sazerafasy

C. FEDReBIH

D. srerciiamerasy

[Question ID = 1506][Question Description = S2_qSNz_PG_SANS_Q56]
1. Awd D

[Option ID = 6021]
2. AwiB

[Option ID = 6022]
3. B C

[Option ID = 6023]
4. AwicC

[Option ID = 6024]

57) udl PreaRqyuiaRrl A[rll Id: -
A. arcdifs:



B. smre:

C. 8xdiog:

D. ®ifererr:

I fred R -

[Question ID = 1507][Question Description = S2_qSNz_PG_SANS_Q57]
Awd B [Option ID = 6025]

B wd C [Option ID = 6026]

B wd D [Option ID = 6027]
Avd C [Option ID = 6028]

A W N -

58) ua seIPfimIiticRIguiid HAsIPIR F:

A. Jgdorg

B. drEgae

C. aifSrsior onaoiets]

D. @ 2iias

[Question ID = 1508][Question Description = S2_qSNz_PG_SANS_Q58]
Awd B [Option ID = 6029]

B wd D [Option ID = 6030]

Avud D [Option ID = 6031]
B wd C [Option ID = 6032]

A wWwN -

59) udRll: 3IcipRRAY: IULHIT - SUANRIT SIae:
A. wumy
B. fomaen

C. sy

D. fagrHifep:

[Question ID = 1509][Question Description = S2_qSNz_PG_SANS_Q59]
1. Awd C

[Option ID = 6033]
2. AudB

[Option ID = 6034]
3. AwdiD

[Option ID = 6035]
4. Bud C

[Option ID = 6036]

60) 313316l 23D ciPR - BocAl: freferf¥ey ada
forr: gaunAfuR=T urcrell, eIy gftl wergs e afeqge
a1 aftifergelt fafda: weamrl gfRifts: Sadel dora=:

A. Suan

B. gwreyraI:

C. anfereit

D. dorrers

I frped R -

[Question ID = 1510][Question Description = S2_qSNz_PG_SANS_Q60]
Avwd C [Option ID = 6037]

B wd D [Option ID = 6038]

C wd D [Option ID = 6039]
Avd B [Option ID = 6040]

A w N =

61) sreRdoly @ & dafreRIc> YRIv) ¥d:
A. sPTaAyRIvIe

B. FIcxagzIvTe
C. srssyzrure



D. genvsyzrvreg

[Question ID = 1511][Question Description = S2_qSNz_PG_SANS_Q61]
. Awd B [Option ID = 6041]

. Buwd D [Option ID = 6042]

. Bud C [Option ID = 6043]
. Avud D [Option ID = 6044]

A WN -

62) fpftmoenmvs @i fauril aftidal aa:

A. 3roniaafordr - edole]

B. fiaredyumay

C. fsfiuvlor gaaerforder:

D. Jurfer en

[Question ID = 1512][Question Description = S2_qSNz_PG_SANS_Q62]
1. Awd B [Option ID = 6045]

2. Bud C [Option ID = 6046]

3. Bud D [Option ID = 6047]
4. Cwd D [Option ID = 6048]

63) ASTAcaRIFI: RITERIEARRI Y01 Fl:

A. sufeiférgesorey

B. Sulgragm=umg

C. ABAYDI

D. eramenigyamung

JfId fped R -

[Question ID = 1513][Question Description = S2_qSNz_PG_SANS_Q63]
1. Awd B [Option ID = 6049]

2. Bwd C [Option ID = 6050]

3. Awd C [Option ID = 6051]
4. Cud D [Option ID = 6052]

64) wifeciiznd epifaeI9LgTe] 3HATRIIG] FATURIT
A. enizerciRy

B. Afoorenqiorrasyy

C. ®ucom9litnoy

D. qrenacaridersgy

JfId fed Rigga -

[Question ID = 1514][Question Description = S2_qSNz_PG_SANS_Q64]
1. Avwd B [Option ID = 6053]

2. Bwud C [Option ID = 6054]

3. Awd C [Option ID = 6055]
4. Avwd D [Option ID = 6056]

65) wifechizrd getrasi=a & & cgl -

A. arcIoDTe:

B. smcarisnfaa:

C. =eil

D. sicnf3acrasr:

frd freped R -

[Question ID = 1515][Question Description = S2_qSNz_PG_SANS_Q65]
1. Awd B [Option ID = 6057]

2. Bud C [Option ID = 6058]

3. Cud D [Option ID = 6059]
4. Avd D [Option ID = 6060]

66) ol AE DI AL ?
crferenr | feret 1

A. SBadc |. snfeer:




B. uspde: I, sif¥orer:
C. arHde: I, 3rfdor:
D. srerdde: IV. arx:
AR e R -

[Question ID = 1516][Question Description = S2_qSNz_PG_SANS_Q66]
1. A-1IV,B-Ill, C-Il, D -1 [Option ID = 6061]
2. A-1I,B-1V,C-1,D- Il [Option ID = 6062]
3. A-1l,B-1,C-1ll, D- IV [Option ID = 6063]
4. A-1,B-1l,C-1V,D-lll [Option ID = 6064]

67) '318 IcE] ool aeli Rifdoal yeren AfSRIGIe 3i¢ Aocfiol PIATol USToleref ARV ATRIA -

eiferept | aferr Il

A. 3B I, $oagdl

B. st Il. Fgzon

C. Jepmfl lll. smesyoft aray
D. gerem IV. grafRrft
agfrd faed Riga -

[Question ID = 1517][Question Description = S2_qSNz_PG_SANS_Q67]
1. A-I,B-IV,C-I,D-1l

[Option ID = 6065]
2. A-IV,B-1Il,C-1I,D-1

[Option ID = 6066]
3. A-lLB-1,C-1V,D-1l

[Option ID = 6067]
4. A-1,B-1l,C-1I,D-IV

[Option ID = 6068]

68) ol Az BIA AFAGELL:

arferaor | arfereor |l

A. SMEISIG: |. Jrarios®=:

B. fojftrcasanidcsg Il. Stetcoloray

C. IR gIoagpracit lll. digaiacasy

D. forfdorurgaarc: V. faeasireras<rolot:

[Question ID = 1518][Question Description = S2_qSNz_PG_SANS_Q68]
A-1l,B-1I,C-1V,D-1[Option ID = 6069]
A-1,B-1l,C-1V,D - Ill [Option ID = 6070]
A-1lll,B-1,C-1l,D -1V [Option ID = 6071]
A-1V,B-1l,C-1,D-Ill [Option ID = 6072]

A WN -

69) A1 Dol IAE B AL

eiferaot - | eferept - 11
A. JAFPUDIH l. RBifg:
B. sraem l. 3ot

C. srocen Ill. anfiry:
D. sreergoren IV. gfte:

[Question ID = 1519][Question Description = S2_qSNz_PG_SANS_Q69]
A-Il,B-1V,C-1,D- Il [Option ID = 6073]
A-1,B-1ll, C-1l,D- IV [Option ID = 6074]
A-11,B-1,C-1l, D - IV [Option ID = 6075]
A-1ll,B-1l,C-1,D-1V[Option ID = 6076]

A wWw N -

70) ool Az DRI AFdoel:?

arferar - | arferar - 1

A. T urer |. foee feRipICHaD

B. o<t smem Il. sif¥csec FreRNEICHD
C. feroacdt amor Il. sRieICcAD

D. Joerreft sirar V. Rovec FRNeIcHD

[Question ID = 1520][Question Description = S2_qSNz_PG_SANS_Q70]
1. A-1,B-1Il,C-1V, D-Ill [Option ID = 6077]
2. A-1ll,B-1l,C-1V, D - | [Option ID = 6078]
3. A-IV,B-1,C-1ll, D- Il [Option ID = 6079]



4. A-1l,B-1v,C-Ill, D -1 [Option ID = 6080]

71) ool As DA Aol ?

eferet - | afereot - 11

A. TR <Ioeliitards I. aro] % =1

B. gl Il. 3Ny gEPIGIRY oI:
C. odwmdivn: ofer Ill. g srcsrqui Fgorfer
D. 21 a s11del HIGICISIvTa] IV. Sp1a: wat gt

[Question ID = 1521][Question Description = S2_qSNz_PG_SANS_Q71]
A-1,B-1l, C-1V,D- Il [Option ID = 6081]
A-1l,B-1V,C-1ll, D -1 [Option ID = 6082]
A-1IV,B-1,C-1ll, D- Il [Option ID = 6083]
A-1ll,B-1,C-1V, D- Il [Option ID = 6084]

AW N =

72) dol 36 DA AdoLr: ?

rferept - | cferent - 11
A. feferaparers: |. Jcawiedms
B. sigoIRRIUL: Il. IgrRISRI
C. fromacs: 1l. Jufizizreg
D. orgm: IV. orcraey

[Question ID = 1522][Question Description = S2_qSNz_PG_SANS_Q72]
1. A-Ul,B-1l,C-1,D-IV[Option ID = 6085]
2. A-IV,B-1ll,C-1l,D-1[Option ID = 6086]
3. A-1,B-1l,C-Ill, D - IV [Option ID = 6087]
4. A-1l,B-1l,C-1V,D- I [Option ID = 6088]

73) ool As B Aot ?

eferapr -1 eferaor - 11

A. sifar: |. ad: oloaarcsi ueafer

B. amrer: Il. SpFUSOra ol YBHUIARACIHIYSIICTOISIAASICl FoII613]
C. oifeicr::  |lIl. s fcelia o fopmer

D. s momis: V. séigariic] ufrien Hgslslomiral & fordroaaiion:

[Question ID = 1523][Question Description = S2_qSNz_PG_SANS_Q73]
1. A-llI,B-1,C-1l,D- IV [Option ID = 6089]
2. A-IV,B-1ll, C-1,D- Il [Option ID = 6090]
3. A-1lll, B-1V,C-1,D- Il [Option ID = 6091]
4. A-1,B-1I,C-1V, D - lll [Option ID = 6092]

74) dol Is DI AEoLL: ?

aferepr - | aferepr - 11

A. i I. arfSergRIvmeg

B. doura Il. usrgzroTe

C. gr&1 Ill. ArBU3AYRIv
D. smeorx IV. srssyzivreg
Ffr fepetd R -

[Question ID = 1524][Question Description = S2_qSNz_PG_SANS_Q74]
. A-lll,B-1V,C-1l,D-I[Option ID = 6093]
A-1IV,B-Il,C-1,D-Ill [Option ID = 6094]
A-1Il,B-1,C-1V,D - Ill [Option ID = 6095]
A-1,B-1ll,C-1l,D -1V [Option ID = 6096]

A W N -

75) dol As B ALl

arferenr - | crferet - 11

A. @afee: |. ool gftisfior: ysmoiierm:

B. Scif¥era: Il. aifdrsrot gfeighivr: gemoiierys:
C. spsufcm: lll. ygsangcaal¥a: ysioita:
D. d¢zm: IV. uzemfst: yores1onig:

[Question ID = 1525][Question Description = S2_qSNz_PG_SANS_Q75]
1. A-1I,B-1,C-1l,D-IV[Option ID = 6097]
2. A-Il,B-1IV,C-1ll, D -1 [Option ID = 6098]




3. A-Iv,B-1ll,C-1,D -1l [Option ID = 6099]
4. A-1lI,B-1l,C-1V,D-1[Option ID = 6100]

76) DUGRIRBARI: HIRIDBRIG] BICTRAVT ASRIA ?
A. gatsfirer:

B. wrcremrern:

C. 3relogdler:

D. solearari:

E. Jrom:

[Question ID = 1526][Question Description = S2_qSNz_PG_SANS_Q76]
1. A, C, D, B, E [Option ID = 6101]

2. C, B, A, E, D [Option ID = 6102]
3. B, E, A, C, D [Option ID = 6103]
4. D, A, B, E, C [Option ID = 6104]

» By

77) O3 - AfFARm: MTRIBRIo] BICThAYT ATSRIA ?

A. sraraht

B. g

C. xfisor:

D. IroT:

E. oifdres: a1z - aaps - fireg:

[Question ID = 1527][Question Description = S2_qSNz_PG_SANS_Q77]
. A, C, D, B, E [Option ID = 6105]

, A, E, B, D [Option ID = 6106]

C, A
D, C, B, A, E [Option ID = 6107]
E, B

1
2
3.
4 , D, C, A [Option ID = 6108]

78) FARTGIOMR UaATGOIDUIVITNRT da: B HITRIIUICTSIA

A. JFIATAAARL:

B. faorsafaorgursima:

C. IIDAAAA AHART:

D. Jaarn:

E. g Jaar:

JfId fped Rigga -

[Question ID = 1528][Question Description = S2_qSNz_PG_SANS_Q78]
. A, C, B, E, D [Option ID = 6109]

, G, , B [Option ID = 6110]

E,C,D,A
C, A, B, D, E [Option ID = 6111]
E, C, A, B, D [Option ID = 6112]

1
2. s
3.

4 )

y MYy

79) ARSIARIUI GIciaa Aemdael o -

A. oftrer:

B. $eazqyour:

C. smgfe:

D. usafdra:

I foed Riege -

[Question ID = 1529][Question Description = S2_qSNz_PG_SANS_Q79]
A, B, D, C [Option ID = 6113]

C, A, B, D [Option ID = 6114]

A, C, D, B [Option ID = 6115]
A, C, B, D [Option ID = 6116]

A W N -

80) sreisfapdre] ARIMBIVIG] BICIRIHVT YGIRIA -
A. DIcIRIG:

B. orrelorsiz:



C. d=ac:

D. arfvrfor:

E. srcfaf:

[Question ID = 1530][Question Description = S2_qSNz_PG_SANS_Q80]
1. D, A E, B, C

[Option ID = 6117]
2. D,E B, C, A

[Option ID = 6118]
3. D,A,B,CE

[Option ID = 6119]
4. D,E C,B,A

[Option ID = 6120]

81) argswRIARRA 3cBiciidifel fRftpapdivr ygokid -
A. ermcaret:

B. weigmw:

C. gayr:

D. drsreg

E. gucrs

[Question ID = 1531][Question Description = S2_qSNz_PG_SANS_Q81]
1. C, A, B, D, E [Option ID = 6121]

2. A, D, C, B, E [Option ID = 6122]

3. C, A, E, D, B [Option ID = 6123]

4. A, D, B, E, C [Option ID = 6124]

y Yy Dy

82) gpafa wlgreEier apror: TP vTHRITH R -
A. 33T - Iaufer:
B. sifrfrmurumyg
C. =t - Rrarvmy
D. aurast yaer:

E. soa:gz frema

[Question ID = 1532][Question Description = S2_qSNz_PG_SANS_Q82]
1. A, B, C, D, E [Option ID = 6125]

2. A, C, B, D, E [Option ID = 6126]

3. B, C, D, E, A [Option ID = 6127]

4. C, D, E, A, B [Option ID = 6128]

» &y

83) wdyrehict ITeir: greRiol wIcipHTRIRIRAHT Rigld -

A. fRpararsieiieg

B. qaReisae

C. stueiRratyasy

D. IR

E. Yawariacdsd

[Question ID = 1533][Question Description = S2_qSNz_PG_SANS_Q83]
. A, B, C, E, D [Option ID = 6129]

, C, D, A, E [Option ID = 6130]

B,C,D,A
D, E, B, A, C [Option ID = 6131]
AB,C,D

1
2.
3.
4. A, , E [Option ID = 6132]

2]

84) srenferRadrcli IRV faeRIarote] JfIT: paisRa
A. arcoEatr:

B. cordel AsIoIsoIoid



C. faif¥rer - gzeror

D. rasica

E.@Igrr eopsisen:

[Question ID = 1534][Question Description = S2_qSNz_PG_SANS_Q84]
. A, B, D, C, E [Option ID = 6133]

A, B, C, D, E [Option ID = 6134]

B, D, A, C, E [Option ID = 6135]

B, C, D, A, E [Option ID = 6136]

A WN -

y =y Uy

85) g ITRIRYYSSIfol ATor-arelfer Afoe -

A. oy

B. a:

C. od

D. feren

E. forae

[Question ID = 1535][Question Description = S2_qSNz_PG_SANS_Q85]
. D, A, B, E, C [Option ID = 6137]

, D, E, B, C [Option ID = 6138]

A D, E B
C, D, B, A, E [Option ID = 6139]
E, A, B, C, D [Option ID = 6140]

A W N -

» Ay Dy

86) wermigae senfeRaay - oo vwd siffrveny (A), stuwa awa oruy (R) sk -
sifdrpereay (A) : ' At & TdR] U4 dG, UG UIWIGd, 3iolod Fasiclias, SR yferferssfer gferfersofer .
@R (R) : ' ada: A Sionfer - au: car: wet sfer gfersor, dor: Aafsenfor AceRaeTe '

SWRI - sif¥rperel - eRUEIdRI AR frcd Rio -

[Question ID = 1536][Question Description = S2_qSNz_PG_SANS_Q86]
1. (A) vaeg (R) 3smaft a=e, (R) sfr 3frd orumla (A) s

[Option ID = 6141]
2. (A) vas (R) 39mafd srRIcmp]

[Option ID = 6142]
3. (A) 3wy, (R) SRIREL

[Option ID = 6143]
4. (A) spim, (R) AEL
[Option ID = 6144]

87) a1 dUdIG add - aq (A) scafirperetd, (R) sfr a a1 oruey

siftiperctd] (A) @ oar feon g of SUEIPIG: AATeIDbIcliol slodt Rboq godl ORIV geRdrUer, UL dcdddl ST ScUelod
®RUE (R) : IEIGIPICUR q SPRIPGN: IHGRIFEGIG 9ISI of RN, PRUMGRIAC BRINGRT

3w (A) scafirpert (R) st orvi @fdc FgRed faecd Riga :

[Question ID = 1537][Question Description = S2_qSNz_PG_SANS_Q87]
1. (A) 3= aen (R) sRIcE

[Option ID = 6145]
2. (A) sriep aar (R) A=p

[Option ID = 6146]
3. (A) aer (R) 3911 Ay

[Option ID = 6147]
4. (A) e (R) 39RI 3RIcIEH

[Option ID = 6148]

88) 3 weoIgA (A) scafdiperoty (R) sier a drRuRy

siftiperctd] (A) : urfdrefir srecteIR 311et aqgorRIgy auifuder: frer

®RuE (R) : gitRme@RrIet: - sojdcermvnel: - sseggeliar

Agfrd frsed Rigra :

[Question ID = 1538][Question Description = S2_qSNz_PG_SANS_Q88]



. (A) sfer - aifdreperete aen a (R) sfer orRuey 38ri A=eg [Option ID = 6149]
. (A) sfer aifdreperere den a (R) sfer arum 39 i [Option ID = 6150]
. (A) sfer sifdrpereny A (R) st @rue srieg [Option ID = 6151]

. (A) sfr sifdrperont sricey (R) sfer erup A1y [Option ID = 6152]

A W N -

89) wersrgae stenferlRadey - daq v ifdrpereia] (A) srawa a==1 @Rt (R) sfe -
sifdrperedy (A) : faarfe op: grst faen adla S13, of | T aeiisiiol 91t wRAcausioa ar

s1aicl & yorsiao] 9s: wei gfer dg e,
@rue (R) :ysafr oRifsasrs a6t gorcr:
IWfep sifdrped - PRI A famed Riga -

[Question ID = 1539][Question Description = S2_qSNz_PG_SANS_Q89]
1. (A) aer (R) 3smafd sricers [Option ID = 6153]

2. (A) aer (R) 3smaft =g [Option ID = 6154]

3. (A) aer (R) ssmmafdl 2wy o (A) s (R) agfid v sufda [Option 1D = 6155]

4. (A) sfer =i @@ (R) sfer sriepr [Option ID = 6156]

90) DuUsig: senfeiRaad - aq v ftrpesid] (A) 3rsda a3a ®rul (R) sfer
sifdrperord (A) : Enfcad afeiaei of Aavnidan

®rRuE (R) : gaaf¥ae srufdpd: wrRui srafed

SWRTP - MDA - PRUHIY AHRIA fpeu Rioga

[Question ID = 1540][Question Description = S2_qSNz_PG_SANS_Q90]
1. (A) aer (R) 3emaft spiwpy [Option ID = 6157]

2. (A) aen (R) semaft sy, (R) sk 3Rid wrumiid (A) scwer [Option ID = 6158]

3. (A) aer (R) 3smaft Iy fopeq (R) sfer 3frd @rvi onf¥a (A) s [Option ID = 6159]

4. (A) =9, (R) srie [Option ID = 6160]

Topic:- Sanskrit_Set2_B

1) sreiferRad ufscsds ufdear YeoleiR S9
g3 dorgory frs 13 geemey quifeli Aerrdens] 3Tarvi (9 qamaadiacso] Ael Idslel: *asioll Al 9] old SIYI AUIICARUI €9¥od 3Id: '9IeG!

&lo1: Fa=dl quidl ar firear YIep! of adelie A apas)l Asilel BoIlRd AAeGIN: FARAISURIEN ' SRIIGACRIL: IUcIetiioli 18P ool It
orarferep1 acdd, Ay 40 s[cad YRI: YDIIl Ud  NUreIidrgin Ay ciidgize: Il urfdreli fOISIRIT *oIpIcdid; JJIcAD AfeT
UISERIHUCTRIA  IJJIcHPUIST(, 'quifcaruiiden’ sfe oireell YopIidiar arfdehidIsIRI eTgurcl garuioIsil eI digdIdURRI doglifdlor:
aregforensl Jeari yferftsar

AToGIIISIRIT: YUIAT dcd -

[Question ID = 1541][Question Description = S2_qSNz_PG_SANS_Q91]

1. da:

[Option ID = 6161]
2. YO IHINRIT JRATDT:

[Option ID = 6162]
3. digdeneun

[Option ID = 6163]
4. SIoIIRIIEL:

[Option ID = 6164]

2) senferRad ufeeadd ufdcar YestemygR S :

¢ Acrgory foren 3 yemey avileri Aemdaen) Icarvi P iqarasaamaacgi] Aol Iasiel: dslell AT 3 oId SIUI dUICARUY €96 3Id: '9IG
Blot: Fazel quidl a1 e gyl of agelse A apas)l Jswle! f3o1f¥ AdAeGIg: FARAISURIENT ' SRIGAFIRIE:  Iucieeiell fOIsTP]eelreli Ai¥aT
orIferent acld, Ay 40 sfeerRd YRI: YK va  snftrercforen Adyeni aeiza: YmIfdrar urfdreiln RIS *5ipredidm; Jgedd Al
UICEAHUCRIA  FJICHDUIST, "auilcarRuIfdig’ sier olrdell YpIidrar arfreiiorgiR crgurol gecursisit aiRid  dig S—ImURRI doglliiet:
aregiOreIsi Jari yfeiftoar

‘quifcaruifdrgn’ se=m: yuiar add -[Question ID = 1542][Question Description = S2_qSNz_PG_SANS_Q92]
1. snfderfer: [Option ID = 6165]

2. sog [Option ID = 6166]

3. wliir: [Option ID = 6167]

4. <ogenaft [Option ID = 6168]

3) sienfeiRad ufead ufdear QesloeIdgR 31 &

¢ dorgary foren 13 yepmy auifen wenden) Scarvi POifdigearasaaadcsors Aol Iasiol: Wdsloll T 3] ol SIYT duilcdRul €9od 3Ie: '9recT
&lol: Fa=dl quidl a1 f3rear Yool of ALl A arpds)l AsHl6l [Bolld AAeg9N]: FARAISURIEN ' SRIGRAKRIE: IUcietiloli fdIgiPloeroll AT
orarferet adda, ay 40 sfoerd YRrRI: YoIfdrar ua  snftierafdrgn Adyeni adiza: goifdrar urfdreii fOreiRn saibicae; Jgicasd afe



UICEAPUCRIA  YIeAPUISTd, "quifcaruifdren’ o1 aieett Yop1fdrar arfdehidIgiRn crgurdl gacarsisil aw  dlg SAPURI dogallPiet:
AregiOreIsi Jari yfeiftoar

ofcr forgmeleem: yeprfdran: Jafod -[Question ID = 1543][Question Description = S2_qSNz_PG_SANS_Q93]

1. acaif¥orq [Option ID = 6169]
2. gmfior: [Option ID = 6170]
3. @ [Option ID = 6171]
4. g [Option ID = 6172]

4) senfafad ufyesd< ufdear yeoiongga? S9y

¢ dorgary foren 13 yep quifer wenden] 3carvi POifdigarasaaadcsors] Aol IAsIol: Wdsioll T 3¢ ol SIYT dUilcdRUl €9od  3d: '9IecT
&lo1: Fa=dl quidl ar f3rer YIep! of adeide A apas)l AsHHlel Bl AAegIN]: FARAISURIENN ' SRIGRACRIL: IUcIetiioll frgiPloeIroll T
oraiféret add, ay 40 sferd YRrRI: YoIfdrar ua  snftrerafdrgn Adyeni aEiza: yoifdrar urfdreiiR fOrgirn saibicaem; Jgicasd dfe
UIOERHUCTRIA  FJIcHDPUIST(, "quilcaruIfdren’ i ool YoIidrar g crgurcl gecuoisil e dig JATPURRI dogallPeT:

arogfo18nsiUr IRl yferftsar

FARAISWRIER [pgcTaumi add -

[Question ID = 1544][Question Description = S2_qSNz_PG_SANS_Q94]
1. awas: [Option ID = 6173]

2. egste: [Option ID = 6174]

3. eowmery [Option ID = 6175]

4. sogoerg: [Option ID = 6176]

5) sreifeiRad ufecad< ufdcar YestemgmR e :

¢ dorgony foren 13 yerey quileli Aenden] Iarvi Oifdigaraeadmadcsore Aol Idsiol: %dsioll T 8 old SIYI qulicaRUl €9ed  3d: '9recT
Blo1: Fa=al quidal ar firean Yool of asrelie 1 apas)l AsiIlel Bl TGN FARAISURIEN ' SRIGACRIL: IUcIetiioll frgiP ool it
orarferept acdd, Ay 40 scerd YRI: YDIIAr U INfUreIorgin AdYerdi ciBired: Il urfdreii fOISIRI *oIpedid; JgicdA® Afer
UICGAHUCTRIA  JIcHDUIST, 'dUITcerRuIidIgn’ siel oldoll YpIHIrar uIfireiiidIgir crgurcl gacurslsit iR dig dRIIURRI TUccallidel:

aregforens Jeari yferftsar

AL fOI8IRI: ergurdl gacured ferd -[Question ID = 1545][Question Description = S2_qSNz_PG_SANS_Q95]

1. arogfdremr=m: [Option ID = 6177]

2. ufdrefforemm: [Option ID = 6178]
3. onfterfer fdremem: [Option ID = 6179]
4. aquifcarvifsierem: [Option ID = 6180]

Topic:- Sanskrit_Set2_C

1) sreiferlRac srer - zvs ufdear Yeoireti Widion] 3R RIgld -

ara | geqdis | fifdaafdasa siefia Adamraa | AicuiusseRARd daicr foRplid ua spieeRRIIcIMb S eRIYg IUYHIUoRA Pl aal
AigoIysiad] URUIHIUIAHI GIHUII cigdiaG: AldoIRF T YRI: ARSICTYSIIcIolioHeitl wIcIduRIic gis: selfSsiasiactalit JRed Hafd Joll
zfe: srare9n wa safod sirsielfol IUSIIGIE UK 3 IR Fwlepavnfia Jsiformonrarl fagifod Jol IuSIPIUN: Iacdl
ufyerdlasfiwRia sufersaifer Sioy SUIdaAUidgiia of JgIfel ICTRACAIAIIICIG of §8 HARIA 3fe1 YDoIRIIUSI 9frdl ISIBARISIIRI eifsia:

JUSII: BRI HolRT Jx¥el gfererfoa ?[Question ID = 1546][Question Description = S2_qSNz_PG_SANS_Q96]

1. 9igIgeoR ey [Option ID = 6181]
2. for=m@rei3r [Option ID = 6182]

3. e s [Option ID = 6183]

4. IR [Option ID = 6184]

2) srenfeiRad srer - WS ufdear yeoireli eiidion] 3= Rigid -

ard | geqdis ! fafcaafcac= srefia Idormgz a siicuaRustseREpIRa  darcia forpia wa sgieRRoIIAIbSeHYS ayHIUoRIAPIss! dal
Aiqorgsiad URUIHIULEHI GBIl clgdloG: AldolRF I RI: IIREIcIYgiiciolfoicnitl wresrguRnic gfs: seifSsiasacarltts JRP[ swafer ol
zf®c: @IE9N wa Hafod HISIeIIiol IUSYINGI, IIUSIAdHC 18 IR FBICpAVIIT ISIormonR<rIl fagifod FHol IUSIPIUIT: I¥acil
iSRRI slifersolfel Sold] IUIaaAUidfda of TYIIRT IGRACAINTIICIING of dg HoAd el IYDOIRIUGII fcdl ASTBIARISIIRI afsfe:

IsIergdt: IRFAAufsIEid siol dol wRUH o snfergarfel[ Question ID = 1547][Question Description = S2_qSNz_PG_SANS_Q97]

. &ferr [Option ID = 6185]

. @it [Option ID = 6186]

. clider [Option ID = 6187]

. arefggeen [Option ID = 6188]

A W N -

3) sienferRac srer - wvs ufdcar yeatreti o 3@ fRiga -



ard | geqdis ! fafcadficas srelia Adorgz a siicudARusteR[#IRA  ddrcia] orpia ua sIgiERRcIIAIbSeHYS ayHIUcRIA P! dal
Algorygras] URUIEHIUR SIHUN cIgdfiong: AldolRFs T YRI: IR EIcygiiciolforicnitl wrepsrgurnfer gfig: selfSsiasacantts JRe[ safer ot
zfte: a9 va safod $ISTollfol IUGOIGI] IUSIAdNT 3 I6iRT Fwicmauniia Isiformerr =l faorfor IRA6T IUSIPUI: IRFdcL
uf¥ordlaeiiiRia orfergaifel Siofd] SuIddaufddgiiE of FYorfel IGRACAAAZIICIIG of dg HoId il YMDoIRAIUSI Qfrdl ISTRARISIAARI efSie:

Ioli gf: war wreprguRnfea ?[Question ID = 1548][Question Description = S2_qSNz_PG_SANS_Q98]
. @AREERE [Option ID = 6189]

. arefar [Option ID = 6190]

. Ieeid [Option ID = 6191]

. eiqome#st [Option ID = 6192]

A W N -

4) senfaf¥acd ster - Fvs ufdcar Yestroni A3iiern] 32 Riga -

ard | goqdis | fafcaafcacme siefia Idormgz=1 d siicudaRuatseREpiia  darci forpia va sigeRRcIAdIb ey ayHIUcRIACPIEs! dal
Aldorygerae]  af¥vmEHIuEl SrHull cigdiiss: AldolR) a YRI: RsIcIygiciolfoicnit wropwEu=nfe gfy: selfSsiasracanttl IRpA safer Jeti
zf: srareen ud srafod Hrsteniol IUSNeld ruRIAaHC 13 6131 FwiRamavniea Isiformonr Rl faorfsd JA6T IuSIPIUIr: IFadl
ufrerdtasfiwRia snfers=ifer Stowey SPATRMfAGRE o TgIfel STRACTINIIICNIG o g8 AAA i1 YdbolRNuSi 9frar IsIpARISTITR erfsfa:

Y 3G 9n: BIa YSrRid ?[Question ID = 1549][Question Description = S2_qSNz_PG_SANS_Q99]

1. g [Option ID = 6193]
2. arrdisrr [Option ID = 6194]

3. aogrdlsrr [Option ID = 6195]
4. oresRt [Option ID = 6196]

5) sienfeilRad ster - aus ufdear gesiioli Jeildien) 3T Riod -

ara | geqdis | fifaafdasa siefia JAdorRaa | AicuiustseRART  daick foRpeld vd spieeRRoIIcIMb eIy IUYHIUoRA Pl aal
Aigorysias] URUIHIUIAHI GIHUII cigdidG: AIdoIRF T YRI: ARSICTYSIIcIoliolHeIit dIcsIguRIic gis: SelfSsiasiactanit JRPd Hafdl ol
zfe: srare9n wa safod sirsienfol IUSIIGIE UPIAdHC 3 IR FwRpavniia Jsiformonrarn fagifod Jel IugoEUm: Iacdl
ufyerdlasfiwRia suferseifer Soey SIdaIuiigia of JgoIfel ICRACAIAIIICIIG of §8 HARIA 3fe1 YDolRIIUSI 9frdr ISIBARISTIRI efsfa:

3133101 a1ERAvs @: Juferfer ?

[Question ID = 1550][Question Description = S2_qSNz_PG_SANS_Q100]
1. ardis: [Option ID = 6197]

2. gpemt: [Option ID = 6198]

3. e [Option ID = 6199]

4. ggav: [Option ID = 6200]

Topic:- GP42_D4_SH2_SET2_A

1) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (SSE) employed in five different Software companies (A-E) during the year 2020.
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

Software Engineers(SE)
Software Assistant Junior Senior
company| (ASE) (JSE) (SSE)
A 150 100 150
B 350 100 200
c 200 150 350
D 250 250 450
E 150 250 350

ofia f&u it @t ufeu sz gl & 3ar S :
Sfx &t o1 wrRvft 3 axf 2020 o5 Sierer uia fAfdioet JAfrcdsr wauforil (A-E) 3 oy SSiforRI aer afvss Jiwcdsr SSiforrl &I Jiwn o1 fazor
oo s 3 ARl 3 R 519 siidbst @ e R gl & Jaz SR :

AfrcdsR SoliforRI & duchl-ar Fwen



JAfredsr shiforr
RifFcd3R DUl FrerIs ATrcdsR RIRR wiorss Aircdsr sRiforr afves JAircdsr sRiforr
(T vas) Sread) (aoag)
A 150 100 150
B 350 100 200
Cc 200 150 350
D 250 250 450
E 150 250 350

If the number of all the Software Engineers in the Company-A, Company-C and Company-D is increased by 30%, 35%, and
40% respectively, then what will be the overall percentage increase in the number of all Software Engineers in all the five
companies taken together?

afe wuclt A, Bushl C den dushl D 3 it sircdsr SSliforRI & Jizsen 3 aaror: 30%, 35% dem 40% &t gfiig 3, A e Brema: it uial
ouforil 3 il FHfredsr sshiforRI &I e 3 aqer gl fpaoil dpt ?

[Question ID = 2826][Question Description = S2_qSNz_PG_GP42_Q01]

1. ~18%/~18% [Option ID = 11301]

2. ~22%/~22% [Option ID = 11302]

3. ~30%/~30% [Option ID = 11303]

4. -35%/-35% [Option ID = 11304]

2) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (SSE) employed in five different Software companies (A-E) during the year 2020.
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

Software Engineers(SE)
Coftwarel Assistant Junior Senior
company| (ASE) (JSE) (SSE)
A 150 100 150
B 350 100 200
(o 200 150 350
D 250 250 450
E 150 250 350

ofia f&u Ruflt @l ufeu iz gl & IR e :

i €1 o1 Aot 3 adf 2020 & Sierot Ui fafdteot Hiwcask wauforil (A-E) 3 forgmp Sliforrl aen af¥so Aircdsr ssiiforrl &t s o1 faazor
& o 3 ARvfl 3 R 219 siidst @ SR WR gl @ IR SR :

JircdsrR SoliforRI &t ducil-ar Fx=n

JAfredsr shiforr
(T sad) Sroa €) (aoasg)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

What is the average number of Junior Software Engineer (JSEs) in all the five Companies?



it uia ouforil 3 dforss ATred3R SSiforRRI (SI v §) i siiRIa iz a= 3 ?

[Question ID = 2827][Question Description = S2_qSNz_PG_GP42_Q02]
1. 150/150 [Option ID = 11305]
2. 110/110 [Option ID = 11306]
3. 170/170 [Option ID = 11307]
4. 190/190 [Option ID = 11308]

3) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (SSE) employed in five different Software companies (A-E) during the year 2020.
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

Software Engineers(SE)
Software Assistant Junior Senior
company| (ASE) (JSE) (SSE)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

ofia f&u aRuft @l ufeu iz gl & IR e :
il €1 orf Aot 3 adf 2020 & Sierot uia fafdteot Hiwcask wauforil (A-E) 3 forgmp $Sliforrl aen af¥ss Aircdsr ssiiforrl &t s o1 faazor
four s 3 Al 3 13U o19 sfidbst & smemR Uz Yool @ IR SifSe :

HAlredsR $oliforRI & ducil-ar Jz=n

JAfredsr shiforr
(T cad) Sroa€) (aoasg)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

If the number of ASEs employed in all the five companies is increased by 20% and the number of SSEs employed in all the
five companies is decreased by 20%, then what percent will the number of ASEs be more than that of SSEs?

afe 219ft uia wufordl 3 forged v v § & Jizen A 20% 6 giig aen 1ft uia wufordl 3 vt vt § 6 sizen d 20% 6 ot 31, al v oA € i
T DI getoll 3 T uA $ Dl A3 fepden yfererd siira dpf ?

[Question ID = 2828][Question Description = S2_qSNz_PG_GP42_Q03]

1. 18 %/18% [Option ID = 11309]

2. 20 %/20% [Option ID = 11310]

3. 10 %/10% [Option ID = 11311]
4. 15 %/15% [Option ID = 11312]

4) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (SSE) employed in five different Software companies (A-E) during the year 2020.
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

| | Software Engineers(SE) |



Assistant Junior Senior
Software)
company| (ASE) (JSE) (SSE)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

ofia f&u aRufl @l ufeu iz gl & IR e :

off €1 o1 aRvft 3 adf 2020 & Sieror uia fafdteot Hiwcask wuforil (A-E) 3 forgmp Sliforrl aen af¥so Aircdsr ssiiforrl &t Fizsn o1 faazor
& s 3 ARl 3 R 519 Siidst @ ISR WR gl @ IR SR :

JircdsR SoliforRI &t ducil-ar Fiz=n

JAfredsr shiforr
(v wagd) (Srea $) (Taead)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

What is the ratio between the number of ASEs in Company-A and Company-C?

@il A e wuofl C 3 ¢ a1 § &b Azcanasil @I ioqurd a=r & ?

[Question ID = 2829][Question Description = S2_qSNz_PG_GP42_Q04]
1. 5:6/5:6 [Option ID = 11313]
2. 3:4/3:4 [Option ID = 11314]
3. 5:7/5:7 [Option ID = 11315]
4. 2:3/2:3 [Option ID = 11316]

5) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (SSE) employed in five different Software companies (A-E) during the year 2020.
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

Software Engineers(SE)
Coftware Assistant Junior Senior
company| (ASE) (JSE) (SSE)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

ofia f&u aRvft @l ufeu siiz gl & IR e :
i €1 o1$ arRvfl 3 adf 2020 & Sierot uia fafdteot Hiwcask wauforil (A-E) 3 forgmp SSliforrl aen af¥ss Aircdsr ssiiforrl &t s o1 faazor



oo s 3 AAofl 3 R 519 siibst @ e UR gl & Iz AR :
Jfredsr SSliforRrl & Buch-ar e

Jfredsr sRiforr
(T vag) SGread) (caoag)
A 150 100 150
B 350 100 200
c 200 150 350
D 250 250 450
E 150 250 350

What is the difference between the average number of JSEs and average number of ASEs taking all the five companies
together?

st uiar wuforil & SI A § &I siiaa = aen v oA € &b siiaa Jzen @ dfa o= siaz 3 ?

[Question ID = 2830][Question Description = S2_qSNz_PG_GP42_Q05]
10-Oct [Option ID = 11317]
50/50 [Option ID = 11318]
30/30 [Option ID = 11319]
40/40 [Option ID = 11320]

A W N -

Topic:- GP42_D4_SH2_SET2_B

1) What is the full form of MODEM?
SIS o1 3Rifd| U 3 :

[Question ID = 2831][Question Description = S2_qSNz_PG_GP42_Q06]
Modulator- Demodulator/sifszieiez - fBuifszeies [Option ID = 11321]

Modern Electronic Microwave/sfsof sciagifor amsapiaa [Option ID = 11322]

Mechanism of Disk Enhancing Memory /deforsa sifts {33 sosifier duist [Option ID = 11323]
Mobile Data Extranet Multicore/alarser siel varglole [Option ID = 11324]

A w N -

2) The first MOOC offered in 2008 by Stephen Downes and George Siemens was

adf 2008 3 ¥wel S1361 AAl SIrsl AldeA of il usenr J (v 31l 3l ) yzaa v e, 33! ome 3 -----

[Question ID = 2832][Question Description = S2_qSNz_PG_GP42_Q07]

1. Connectivism and Connective knowledge/3risIdars iR Risi siet [Option ID = 11325]

2. Introduction to Artificial intelligence/mfept gfis (suféfbiortar sefersizt) &t yzzemuan [Option ID = 11326]
3. Models of Teaching/sreamuet @i yfepmer [Option ID = 11327]

4. Rhizomatic Learning/zssiaifea siféerr [Option ID = 11328]

3) Given below are two statements

Statement I: Entity theorists tend to explain failure in terms of a lack of an ability.

Statement II: Incremental theorists tend to explain failure in terms of lack of effort.

In light of the above statements, choose the most appropriate answer from the options given below

ofi 31 Dot Ru sme 3 :

@2l - | : Aca Rigidor srawcdr o) f5fl Asadr @ of Aot & u A ulsnfa o 3
Do - || : aelret Rigiadr sRIGdl o JAIRI o fpU Siol & u 3 ufssnfta o 3
SRl DUl @ 3l 3, ofld e sre frpeul 3 A A& IR @I ol HIRIE
[Question ID = 2833][Question Description = S2_qSNz_PG_GP42_Q08]

1. Both Statement | and Statement Il are correct/memr | 3 |l Geil 2@t & [Option ID = 11329]

2. Both Statement | and Statement Il are incorrect/@ermr | 3iiz || rail strere & [Option ID = 11330]

3. Statement | is correct but Statement Il is incorrect/wmermt | 2@t 8, fboq @eret |l srera 8 [Option ID = 11331]
4. Statement | is incorrect but Statement Il is correct/wmeret | s &, fboq @eret || 38t 8 [Option ID = 11332]

4) Some of the largest and the most successful digital libraries are

A. Project Gutenberg



B. Microsoft Teams
C. ibiblio

D. Internet Archive
E. Sakai LMS

Choose the correct answer from the options given below:

forgot 31 A T AR &3 den Aaiftis Awd Biea sjererl 31 3 ?

A. YiSiac sfcoraet

B. szpRiive o1

C. § - fafeta

D. sevole siplsa

E. Jor$ va g va

oifal feu sru fareedl 3 A A8 IR D1 WRIel B :

[Question ID = 2834][Question Description = S2_qSNz_PG_GP42_Q09]

A, B and C only/dact A, B sfiiz C [Option ID = 11333]
A, B and E only/daet A, B siiz E [Option ID = 11334]
A, C and D only/daer A, C 3iiz D [Option ID = 11335]
B, D and E only/dsaet B, D siiz E [Option ID = 11336]

A w N -

5) Match List | with List Il

List | List Il

Behavioral Model Developer

A. Mastery learning |[l. Albert Bandura
B. Direct Instruction |Il. Tom Good

C. Simulation Ill. Benjamin Bloom
D. Social learning IV. Carl Smith
Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifsre ¢

Rxeht -1 il
(RIaBRICHD Yferarol) (forttorasf)

A. urRe ifeerE I. sreraé qigar

B. geasr forcor Il. & o5

C. soeudr Ill. Sosnfiret scigt
D. senfores sifeerer IV. ®rct Barer

il fou a1 frseul 3 3 A IR gfom ©
[Question ID = 2835][Question Description = S2_qSNz_PG_GP42_Q10]

A-lll, B-Il, C-IV, D -l [Option ID = 11337]
A-ll ,B-IV, C-l, D -lll [Option ID = 11338]
A-IV, B -, C-lll, D -l [Option ID = 11339]
A-1,B-lll, C-Il, D-IV[Option ID = 11340]

A w N =

6) Which among the following is a secondary source of data?

forgotferRacd 3 A Dot stivst D fdizre Fa 3 ?

[Question ID = 2836][Question Description = S2_qSNz_PG_GP42_Q11]

1. Archival data/sifdrcidt siicos [Option ID = 11341]

2. Participants' diary/yfersnfdril 661 seit [Option ID = 11342]

3. National Sample Survey Organization data/2mc}I gfergef st Jemset @ sicbs [Option ID = 11343]

4. Oral narratives/siiRae gaia [Option ID = 11344]

7) Given below are two statements

Statement I: Random sampling may not be a practical strategy in case of a rare kind of population

Statement IlI: Stratified random sample is better as compared to simple random sample if population is too heterogenous

In light of the above statements, choose the most appropriate answer from the options given below

ofla <Y @eret feu s1e 3 ¢



P - | : aeRe® yfereriol ool YR @ We) & AR I <asiiye fafer ol 3 Jodl 3

o - | : afe 1eme) st Rk 8, a Aee arikes yficof &bt geron 3 FRag arikes gferre Jeaz alar &
SRl sl d 3irclld 3, il fu sre fameul 3 A 7Bl IR @I w6l BRI

[Question ID = 2837][Question Description = S2_qSNz_PG_GP42_Q12]

Both Statement | and Statement Il are correct/emr | 3z |l loif 3 & [Option ID = 11345]

Both Statement | and Statement Il are incorrect/aermr | 3iiz || i6il steta & [Option ID = 11346]

Statement | is correct but Statement Il is incorrect/@emr | 3t 8, fpoq @t |l st & [Option ID = 11347]
Statement | is incorrect but Statement |l is correct/@erwt | s1eia 3, fdpoq @erwer |1 3t & [Option ID = 11348]

A W N -

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : In experimental research, the effect of independent variable is examined on the dependent variable.
Reason R : Causal relation between two variables can be established only by the experimental method.

In light of the above statements, choose the correct answer from the options given below

ofl 3l erel fRu s1e 3@ ub sifdraperst (Assertion A) @ »u 3 iz ¢RI 3@ PRUT (Reason R) & u 3 :
sif3rperat (A) @ grRIBIE onter 3 Fadq TR @ Y i Sifa URedq aR UR &I Siredl 3

@Rt (R) : Jl6ll @RI & dia BRI Ader gRIPIG Yutell grI Fenfld s s JAwmdar 3

IRITP BYall D 3Mrelid A, ofld e faasedl 3 A A8 Ia= &1 aRIet Hifste :

[Question ID = 2838][Question Description = S2_qSNz_PG_GP42_Q13]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 31 8 3liz (R), (A) &t 346 =men & [Option ID = 11349]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil A1 & u¥oq (R), (A) &I 38 =m=n o8l & [Option ID = 11350]
. Ais true but R is false/(A) 3= 8, woqg (R) sricr & [Option ID = 11351]

. Ais false but R is true/(A) sric 8, weog (R) = & [Option ID = 11352]

A W N -

9) According to Kerlinger (1973), good research problem should be
A. Describing the relationship between two or more variables

B. Articulated intelligently

C. Philosophically oriented

D. In the form of a question

E. Amenable to empirical testing

Choose the correct answer from the options given below:

olfelor (1973) @ 3IGRAR 3 3IIdIeT AR :

A. 3 <Y siferep TRY @ dfa o AdE BT IccA Bloll AT

B. ol difgm wu A Jrusc dlon aifde

C. @I gofonfieRa son aife

D. @I fip=il yost I PR Yrd Dol difde

E. o1 sopifaes udigor & yfer siaea udigofi slon anfde

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 2839][Question Description = S2_qSNz_PG_GP42_Q14]

1. A, B and E only/d@act A, B siiz E [Option ID = 11353]
2. A, D and E only/@qet A, D 3z E [Option ID = 11354]
3. B, Cand E only/@5aa B, C siiz E [Option ID = 11355]
4. B, D and E only/adact B, D siiz E [Option ID = 11356]

10) Match List | with List Il

List | List Il

A. Positivism |l. Average score

B. Hypothesis |ll. Consistency of the score

C. Reliability  |lll. Tentative answer to the problem
D. Norm IV. Epistemological position

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifste ¢




A. gragEarG |, Jre1 g

B. gradcuctt Il. grsics bt vapeudn

C. farearofiRiar 1. =11 b1 3rSifera IR
D. yferarer V. soriioieia Rerfer

ofl fou o1 frepeul 3 3 A IR gforw ©
[Question ID = 2840][Question Description = S2_qSNz_PG_GP42_Q15]

. A-ll,B-Il,C-IV, D-I[Option ID = 11357]
. A-lll,B-IV,C-l,D-Il [Option ID = 11358]
. A-IV,B-lll,C-Il,D-I[Option ID = 11359]
. A-IV,B-l,C-lll, D-Il [Option ID = 11360]

A W N -

11) In communication, connotative words have

[Question ID = 2841][Question Description = S2_qSNz_PG_GP42_Q16]
Literal meaning/onféges sref [Option ID = 11361]

Cultural meaning/izafer sref [Option ID = 11362]

Common meaning/3mireer sref [Option ID = 11363]

Clear meaning/zure stef [Option ID = 11364]

AW N =

12) In communication, a major barrier to reception of a message is

AYYT 3 A1 I3EUT A YA a1 &

[Question ID = 2842][Question Description = S2_qSNz_PG_GP42_Q17]
. Attitude of listeners/gfiamsii & aiférgfer [Option ID = 11365]

. Knowledge of listeners/gficisii @i siret [Option ID = 11366]

. Education of listeners/gficusii <6t forerr [Option ID = 11367]
. Income of listeners/ofiamii &1 amrr [Option ID = 11368]

A wWw N -

13) A notice about the auction of a car in a newspaper is an example of

fep2fl 3R uq 3 fopfl oR &l ol & ar 3 Jaen fpar®T e 8 ?

[Question ID = 2843][Question Description = S2_qSNz_PG_GP42_Q18]
1. Group Communication/g 2ijuur [Option ID = 11369]

2. Downward Communication/arheRa 2ot [Option ID = 11370]

3. Interpersonal Communication/siadafepe 2iguur [Option ID = 11371]

4. Mass Communication/sief 2iuas [Option ID = 11372]

14) The emergence of consumers who can control and even create media of their own and of producers who can easily
track consumer responses, is made possible by

U Iusilep fSrerent 3= uz forRiquT 2 aer Sit sruefl fifsen o1 fomrivr oft w2 T &, aen A fomriar sit usiie13il bt yferfdpzm @1 smareht A
UdI Pl ¢Id &, 1 3ifdsifa fead GrR1 Fisia 3 urm & ?

[Question ID = 2844][Question Description = S2_qSNz_PG_GP42_Q19]
Television/eetifdsrer [Option ID = 11373]

Radio/3f=1 [Option ID = 11374]

Internet/scaie [Option ID = 11375]

. Telephone/ecfiwior [Option ID = 11376]

A W N -

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Teachers should strive to avoid discussing complex issues.
Reason R: Classroom communication should facilitate a movement from exploring simple issues to complex issues.

In light of the above statements, choose the correct answer from the options given below

il 3t werel fRu s1e 3¢ uwep sifdreperet (Assertion A) @ %u 3 iz ¢RI 3@ PRI (Reason R) & wu 3 :

afdrperet (A) : forgrpl o sifea frril uz @t w2l A dTel D1 YRIRT Bl aIfde

@RI (R) : wen AT B ARREI A 93 I el Rreril Bl st o e aIc 3 sifeet Rreril &6l st 6l 3R aGol DI JDR ToIRI STl a3
IURITS eIl B 3l 3, ofll fGu faapeal 3 2 7 IR BT R DI ;@

[Question ID = 2845][Question Description = S2_qSNz_PG_GP42_Q20]



Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) glail A1 & 3R (R), (A) &t 38 == & [Option ID = 11377]

Both A and R are true but R is NOT the correct explanation of A/(A) sz (R) gleil 31 & wag (R), (A) & 3@t e orét & [Option ID = 11378]
. Ais true but R is false/(A) a1 &, wog (R) sricr & [Option ID = 11379]

. Ais false but R is true/(A) srier 3, wssqg (R) 3= & [Option ID = 11380]

A W N -

16) What comes next in the following sequence?

2Z, 4X, 7V, 11T, ?

forgotferRaa 9)uft 3 seren uc = sem ?
27, 4X, 7V, 11T, ?
[Question ID = 2846][Question Description = S2_qSNz_PG_GP42_Q21]

15P/15P [Option ID = 11381]
16R/16R [Option ID = 11382]
165/165 [Option ID = 11383]
15Q/15Q [Option ID = 11384]

A WN -

17) Given below are two statements

Statement I: ¥ 10000 will become X 13310 at 20% per annum, compounded half-yearly in 1.5 years.

Statement II: A 800m long train is running at the speed of 78 km/h. If it crosses a tunnel in 1 minute, the length of the
tunnel is 1300m.

In light of the above statements, choose the correct answer from the options given below

il ol el fdu sre 3 ¢

P - | : afe ampafy e &t swen sl & sl a1, ar ¥ 10000 6t eerrfor 1.5 adf 3 20% 6t aiftfes H ez A X 13310 S et 3
et - |l : v 800 e it censt 78 fipeiisfics / #@e &t arer A acn @ 3 AfS A5 ves Jior @ 1 Bioic 3 uR @2 Sl 3, ar Jeo1 ol clars
1300 dficz 3

SRS DUsll B IIElIPD 3, ofi<l U 31u frapeul 3 A ABI IR DI TRIol DHIfTT

[Question ID = 2847][Question Description = S2_qSNz_PG_GP42_Q22]

1. Both Statement | and Statement Il are true/@emwt | aiiz || Sleil aica & [Option ID = 11385]

2. Both Statement | and Statement Il are false/a@erwt | siiz |l Qleil sRicr & [Option ID = 11386]

3. Statement | is true but Statement Il is false/memwet | 31 8, fdpog et 1l sRir & [Option ID = 11387]
4. Statement | is false but Statement Il is true/erer | srIcI 8, fbog @eret || 3r & [Option ID = 11388]

18) A tank is normally filled in 6 hours but it takes 4 hours longer to fill because of a leak in its bottom. If the tank is full,
the leak will empty it in

U Th AHIGA: 6 e 3 317 Sl 3, U $ADI dcil 3 ol @ DRUI 3D Mol A 4 & @I Iferd AHA cPIar 3 Al Tb 1 ganm 8, dl i A
D 9RT T3 A, Al ol A Tb fepetofl 32 3 2areft a1 siwet :

[Question ID = 2848][Question Description = S2_qSNz_PG_GP42_Q23]

. 24 hours/24 s [Option ID = 11389]

. 15 hours/15 & [Option ID = 11390]

1

2

3. 12 hours/12 & [Option ID = 11391]
4. 10 hours/10 s [Option ID = 11392]

19) Rambabu ranks eighteenth in a class of 45 students. His rank from the last is
AN T 45 ferenfRRil df wei 3 sorRedal Ferel 3 3id A IoIdI FeATel BT -

[Question ID = 2849][Question Description = S2_qSNz_PG_GP42_Q24]
1. 27/27 [Option ID = 11393]
2. 28/28 [Option ID = 11394]
3. 29/29 [Option ID = 11395]
4. 30/30 [Option ID = 11396]

20) Consider following statements:
A. An employee’'s salary was reduced by 50%. Again, the reduced salary was increased by 50%. Now, his initial and final

salaries are same.
B. 64% is equivalent to 16/25.

C. If an article is sold at 200% profit, then the ratio of cost price to its selling price is 1:2.

Which of the above statement(s) is/are correct?

forgoifeiRaa aerell ur faar Hifsiu :



A. Tt wefardt @ ddot I 50% bt Bl bl il 3 goraa 33D Yollpe derat 3 50% bl gl bl siefl 3 3/ 3D IRBr> aen sifeEr Ador
AT 3

B. 64% qca 3 16/25 @1

C. afe feoaft axg @ 200% oI uz e S, dl $AD oIRId e del faaa e ot srefurd 1:2 3
forgotferRaa 3f 3 Bl - A Dot A8 3 ?

[Question ID = 2850][Question Description = S2_qSNz_PG_GP42_Q25]

. Aand B only/a@aet A siiz B [Option ID = 11397]
. Bonly/a@ae B [Option ID = 11398]

. Aand C only/dae A siiz C [Option ID = 11399]
. B and C only/aaet B sfiz C [Option ID = 11400]

A W N -

21) Identify the fallacy committed in the argument: "Since you are yourself a meat eater, you have no right to object to
my hunting animals for sport”.

forgsifeiRaa gfp 3 Scuoot <1y &I usars bHifsie :
"gid> U IR ARABIE 8, 3T DI A TR SiioiaRl Bl DR @ Silel AR Silel U MUl @0l I DS RIdR o1dt &
[Question ID = 2851][Question Description = S2_qSNz_PG_GP42_Q26]

. Argument from Ignorance/smifdrsiar gfep [Option ID = 11401]

Argument ad Hominem (Circumstantial)/«i@et gfes [Option ID = 11402]
. Argument ad Populum/eli@rista gfiep [Option ID = 11403]

. Appeal to Pity/@un @1 smeg [Option ID = 11404]

A WN -

22) In which of the following steps of inference in the Nyaya syllogism all the three terms stand synthesized?

SIRIRIP] @& ARIAIG™ 3 3ol @ forgafciRaa 3 A b1 arur 4 disll ug Jiffete & ?
[Question ID = 2852][Question Description = S2_qSNz_PG_GP42_Q27]

1. Udaharana (example)/3ereur [Option ID = 11405]

2. Upanaya (application)/3usrr [Option ID = 11406]

3. Hetu (reason)/ag [Option ID = 11407]
4. Nigmana (conclusion)/fommer [Option ID = 11408]

23) Given below are two statements

Statement I: An inference is called kevalanvayi when it is based on a middle term, which is only positively related to the
major term.

Statement II: In kevalanvayi, the knowledge of vyapti between the middle and major terms is arrived at only through the
method of agreement in presence.

In light of the above statements, choose the most appropriate answer from the options given below

il ol el fdu sre 3 ¢

Dol - | : oIl DI DdcllodRll IU a8 3 SIRA 3q 3ol AT D AT, APRICAD WU A URIT SIIAI &
el - || : dacroa=l 3 3q 3z Area & sl @1 sirer suf¥erfer o e A AsAfT b fAafkr grr gre dfar 3
SWwRET> il @ 3irclia 3, ofld U a1e famcul 3 A A IV IR DI TWRI6l DI

[Question ID = 2853][Question Description = S2_qSNz_PG_GP42_Q28]

1. Both Statement | and Statement Il are correct/epera | 3z |l Sieif 2t & [Option ID = 11409]

2. Both Statement | and Statement Il are incorrect/eret | 3iiz || Sloil sleta & [Option ID = 11410]

3. Statement | is correct but Statement Il is incorrect/@erwr | 3@t 8, fbog @eret |l sieta & [Option ID = 11411]
4. Statement | is incorrect but Statement Il is correct/@emt | sier &, fboq @eret |l 3t 8 [Option ID = 11412]

24) Which one of the following would be the logical equivalent of "Only citizens can vote"?

forgotfcri¥aa 3 A Dol "ddcl SIPIR® &l AAGIol D2 AD & ' DI dD e & ¢

[Question ID = 2854][Question Description = S2_qSNz_PG_GP42_Q29]

All those who are not citizens too shall vote/d st Sit sieIRe® ol 3, dl off sIcTol @2 A & [Option ID = 11413]
All those who are citizens shall vote/d it Sit a1l &, #dcier w31 [Option ID = 11414]

All those who can vote are citizens/a sft Sit ardctel B 8, a1y & [Option ID = 11415]

None but voters are not citizens/sdgrmil @ 3ifeifed @IS omely® ot & [Option ID = 11416]

A W N -

25) Consider the following statements in a square of opposition of propositions and pick the correct answer.



forgaifeiRaa werell ol awara @ R - agze] 3 far Hifse sk W& sa= gfero :

[Question ID = 2855][Question Description = S2_qSNz_PG_GP42_Q30]

‘A’ being given as True; 'O’ is False/afe 'A’ 31 fgm srn 8, at 'O" sRicar & [Option ID = 11417]
'E' being given as False; 'I' is False/f& 'E' sric féRm srn &, @t 'I' A= @ [Option ID = 11418]
'I' being given as True; 'E' is True/fe 'I' 3w &= srn 8, i 'E' A= 8 [Option ID = 11419]

‘A’ be given as False; 'E' is True/af& ‘A’ sria f&=m srn 3, dt 'E' 3w & [Option ID = 11420]

A WN -

26) Which one of the following electronic technologies is the key technology for making the first generation computers?

gera Uil scraciforas waric: @ forarivr 3q forsiferlRaa 3 A ot - it saacifore Gienfe ygra gienfb 3 ?

[Question ID = 2856][Question Description = S2_qSNz_PG_GP42_Q31]
1. Transistor/gifSreez [Option ID = 11421]

2. Integrated circuit/sésjes Afdse [Option ID = 11422]

3. Vacuum Tube/daryt czr@ [Option ID = 11423]

4. Dual-Core CPU/gpet - @R = dt 3 [Option ID = 11424]

27) Arrange the following events that influenced the development of the Internet in reverse chronological order (that is,
from most recent to oldest):

A. ARPA established

B. TCP/IP implemented in ARPANET
C. Sputnik | Launched

D. WWW Created at CERN

E. DNS implemented

Choose the correct answer from the options given below

gcole @ faRT @1 Yenfaa ool arcil fowaferRan acolsil Bl 3o BICTRGRIR (31eid AeRY srdlerdd @coll A Yrlloiadl acolr d> ar 3) 3 :
A. © 3R Ul u &I Femuolr

B. srurelc 3 ERildl / gl @1 DRIfcaRe

C. >gafer® - | @1 ygraor

D. it $ 3R wal 3 Secy SocY SocY, DI FSTol

E. Siuoiear @1 dRIifearIol

il fou o1 frpeul 3 A A IR BT a6l HIfSIE ¢

[Question ID = 2857][Question Description = S2_qSNz_PG_GP42_Q32]

E, B, A, C [Option ID = 11425]
D, B, E, A [Option ID = 11426]
, B, C, E, D [Option ID = 11427]
A, C, E, D [Option ID = 11428]

1 )
2.
3.
4 ’ )

28) Which of the following statement about computer memory are true?
A. Secondary storage is non-volatile storage.

B. Video memory found in graphics cards is volatile memory.

C. Primary memory (RAM) is the fastest form of memory in a computer.

Choose the correct answer from the options given below:

PRI FAR D ar I forafeiRaa 3 I Bia A doa A8 T ?

A. A 3N sifel - dIciersd TR 3

B. spfisaar 3 uril sior archt dif3 Jedt diciersar Al At 3

C. gl A3l (3R € wd) ORI d A dsl AAIL Bicdl 3

il fou s1u freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 2858][Question Description = S2_qSNz_PG_GP42_Q33]

1. A and B only/d@aet A siiz B [Option ID = 11429]
2. B and C only/daer B siiz C [Option ID = 11430]
3. Aand C only/@aet A siiz C [Option ID = 11431]
4. A, Band C/A, B aiz C [Option ID = 11432]

29) Match List | with List I




List | List 11
IMemory Device IMemory Type
A. Main Memory  |l. Magnetic Memory

B. Cache Memory [Il. Dynamic Random Access Memory
C. Hard Disk lll. Optical Memory
D. CD ROM IV. Static Random Access Memory

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

oxet - | et -1
(Jrerd) Bars=n) (S oI yoR)

A. JreT FaET |. Jiscifed AT

B. d>or Jest Il. sEenfire Isa vaiaa JAHEs
C. 38 Ill. siiftedsar st

D. ft St a2 3 va IV. e Isa vl A4St

i) feu o1u faasedl 3 A A8 3R gforo :
[Question ID = 2859][Question Description = S2_qSNz_PG_GP42_Q34]

1. A-1l,B-IV, C-lll, D -1 [Option ID = 11433]

2. A-l1,B-ll, C-IV, D -lll [Option ID = 11434]

3. A-ll,B-IV, C-l, D-Ill [Option ID = 11435]

4. A-IV,B-Il, C-l,D-lll [Option ID = 11436]

30) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The Internet of Things (IOT) is a rapidly evolving technology capable of transforming numerous areas of our
lives.

Reason R: There are no issues of security, compatibility and data privacy associated with IOT.

In light of the above statements, choose the correct answer from the options given below

il €1 ool fu ae 3 1 uop sifiraperat (Assertion A) @ wu 3 3R gIRI 3AD dRUT (Reason R) & u 3 :

siffrperet (A) : scole sife Risa (313 3l &) v sl A faf¥a 81 & YlenBrd! 3 R san sfider @ seid §iql 3 ccid clol &l grarar 8
®rRuI (R) : 3 3 & & Ader 3 Jeen, Horaar iR srer &l forsrdr & oI g ol &

SURITE Doil D 3l H, ol fGu famcal 3 A 73l 3a= &1 wRIel Hifsrw :

[Question ID = 2860][Question Description = S2_qSNz_PG_GP42_Q35]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 3= & 3iiz (R), (A) &t 3t =mn & [Option ID = 11437]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3 & udoq (R), (A) &t 348 = ot & [Option ID = 11438]
3. Ais true but R is false/(A) 3= &, weag (R) sricx & [Option ID = 11439]

4. Ais false but R is true/(A) sri1 8, wog (R) 3= & [Option ID = 11440]

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Chromium and Iron contamination is found in wastewater of some industries

Reason R: Higher dose of Chromium and Iron can cause toxic effects in our body.

In light of the above statements, choose the most appropriate answer from the options given below

il St perel f3u s1e 3@ uep sifdraperet (Assertion A) @ %u 3 iz gRI 3@ PRYT (Reason R) & wu 3 :
siftrperet (A) : QIR 30 cils gHUT & B IehEl @ rufdree Siel # UrI Sirar 3

@R (R) : QYf¥rmE 3iiz dls dra o Ica Agp I Adel BT DI FAR IR U furs [pia us JAdmar 3
SIURIP el @ 3ielld 3, ofid fou fRrseul i A A IR o1 aRIet HIfdre ¢

[Question ID = 2861][Question Description = S2_qSNz_PG_GP42_Q36]

Both A and R are correct and R is the correct explanation of A/(A) 3z (R) cleil 38t & 3z (R), (A) &t 31 wmen 2 [Option ID = 11441]

Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3@ & udog (R), (A) &I 38 == ot & [Option ID = 11442]
A is correct but R is not correct/(A) & @ u3sq (R) @t a1dt & [Option ID = 11443]

A is not correct but R is correct/(A) & ot 8 wog (R) &t & [Option ID = 11444]

A w N -

32) 'Blue baby syndrome’ in infants is mainly caused by presence of

orop3il 3 'scf Yeft RISy’ Fora: fopa1 bR diar 3 ?



[Question ID = 2862][Question Description = S2_qSNz_PG_GP42_Q37]
Sulphate in water /st 3 Jicwe [Option ID = 11445]

Nitrate in water/Sie 3 airsee [Option ID = 11446]

Fluoride in water/sic1 3 welRiss [Option ID = 11447]

Arsenic in water /st 3 siRifors [Option ID = 11448]

AN wN -

33) Climate changes involve factors, both internal and external. External ones include
A. Feedback between the atmosphere, occean and land surface

B. Solar variability

C. Earth's orbit alteration

D. Variability within the climate system

E. Volcanic activity

Choose the correct answer from the options given below:

Sicrary ufyacder @ sirdf¥e siik arer oRe 3 |18l dREI d onfdre 3 :

A. argyise, #ASRIPR 3R 3Ias @ dia bisd®

B. iz ufradaeficrar

C. gedl &t e 3 uf¥acdor

D. sterary gomedl & sfiqr uf¥adetofterar

E. sarcmedRn fop=m

ofid o s1u fwseal & A A8} IR BT wRI6l HIRIU :

[Question ID = 2863][Question Description = S2_qSNz_PG_GP42_Q38]

A, B and C only/@aet A, B 3iiz C [Option ID = 11449]
B, C and E only/@ae B, C siiz E [Option ID = 11450]
C, D and E only/a3ae C, D siiz E [Option ID = 11451]
A, B and E only/@act A, B siiz E [Option ID = 11452]

A W N -

34) Identify the correct sequence of the following noise pollution indices in decreasing order of their magnitude in an
urban area

A. Lo
B. Lo
C. Leq

Choose the correct answer from the options given below

9r1a$l 81 J erafor yguur @ foraifeiRaa Jamiml ®I 3o1d Aol D Tcd @ 3 I :
A. Lo

B. Lgo

C. Leq

ofid 3w s1u fwseal # A A8 IR BT wRI6T BT :

[Question ID = 2864][Question Description = S2_qSNz_PG_GP42_Q39]

A, C, B [Option ID = 11453]
A, B, C [Option ID = 11454]
B, A, C [Option ID = 11455]
B, C, A [Option ID = 11456]

A W N -

35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: As a rule of thumb, sites of average wind speed 8 m/s or above can be considered very good for electricity
generation from wind turbines.

Reason R: For average wind speed < 8 m/s, the power produced is not very significant.

In light of the above statements, choose the correct answer from the options given below

oflX S erel fRu s1e 3@ uap sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ PRI (Reason R) & wu 3 :

sifdrperot (A) : rasif¥e efte A Kol o6l UR udel &l il sifer 8 sfice/ Ads ar IJA 3iferd 3kl 3, 308 uge afdra:il A fdsIch cuce &
fére sga 3resT Alell ST ADI 3



PRI (R) : uaa & siiia sifer 8 ez / Aws A @ 2ol uz Seurfed fagga & A Tad sifered o1&l Bt 3
SURID Peoil @ 3iIcilid H, offld fou faacdl 3 A J) 3az &1 wRIel Hifsre -
[Question ID = 2865][Question Description = S2_qSNz_PG_GP42_Q40]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) glail 31 8 3z (R), (A) &t 38 =mz=n 8 [Option ID = 11457]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) glail 31 & weag (R), (A) & 3@ een oidt & [Option ID = 11458]
. Ais true but R is false/(A) 3= 3, uwesg (R) sricr @ [Option ID = 11459]

. Ais false but R is true/(A) srica 3, woq (R) A= 3 [Option ID = 11460]

AW N -

36) The aim of vocationalisation of Education is

forgm @ wIaAARfiw0T @I gy B :

[Question ID = 2866][Question Description = S2_qSNz_PG_GP42_Q41]
. Making education job oriented/fSten @t wrifegxdt somon [Option ID = 11461]

;. Preparing students for a vocation along with regular general education/fenfefil @1 forifdrd meer fren @ el RIaART B AT dolloll [Option ID = 11462]
3. Emphasising on vocational education than on regular general education/forifd Jmete forgn 6t 3mien R f91en w2 act doir [Option ID = 11463]
4. Gradually, converting general education to vocational education/mireer forem @t awter: wraficn forgn 3 ul¥afefa wen [Option ID = 11464]

37) After the implementation of National Education Policy (2020), which of the following types of institutions will exist?
A. Deemed to be University

B. Teaching University

C. Affiliating Technical University

D. Research University

E. Autonomous degree granting colleges

Choose the correct answer from the options given below:

e f9rg oiifer (2020) @ a5y Bl @ a6 forgoiferl¥ae 3 3 b YR @ w6t sibl ?
A. frafdencrr @ Feeu JAFArRt

B. farerur ferafeencrr

C. awmofihl ferafdemcrr @I g den

D. oirer fereaferenerr

E. arrd 33t ygrol @01 arcl aIcisT

ofid 3 s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 2867][Question Description = S2_qSNz_PG_GP42_Q42]

A, B, D and E only/@aer A, B, D siiz E [Option ID = 11465]
. B, C, Dand E only/daa B, C, D siiz E [Option ID = 11466]
. B, D and E only/@aet B, D siiz E [Option ID = 11467]
. C, D and E only/asaer C, D siiz E [Option ID = 11468]

A W N -

38) Given below are two statements

Statement I: Establishment of four big Engineering colleges in the East, West, South and North of the country was
recommended by N. R. Sarkar Committee.

Statement II: The All India Council for Technical Education was set up in November, 1950.

In light of the above statements, choose the correct answer from the options given below

ofi <1 Dot Ru sme 3 :

@l - | : 3or 3 ygw, ulga, sfdivr siiz 3R 4 ar €3 Seiiforaf¥st ol &l FeIrusll Bel.3iR. IR®R Al bl sre1eiar ur &I srit
el - 11 @ siRact ArdRT awsiid! 918 ultte @1 s166 srassz 1950 3 331 e

IWRITD Bl D ATl 3, ofid Gu el 3 2 1 IR b1 ™I Hifste ¢

[Question ID = 2868][Question Description = S2_qSNz_PG_GP42_Q43]

Both Statement | and Statement Il are true/emr | siz |l Gl6il a1 & [Option ID = 11469]

Both Statement | and Statement Il are false/@sermr | 3iiz || Graif sRicr & [Option ID = 11470]
Statement | is true but Statement Il is false/@emo1 | A1 8, fboq @eret || sRicr & [Option ID = 11471]
Statement | is false but Statement Il is true/wmemr | sRic 8, fboq ®erer || A= & [Option ID = 11472]

A W N -

39) Which of the following statements are true vis-a-vis NEP-2020?

A. 4 year integrated B.Ed will be a dual major holistic. Bachelor's degree which will be the minimal degree qualification for



school teachers

B. All stand alone Teacher Education Institutions will be required to convert to multidisciplinary institutions by 2025.
C. A two year B.Ed course for students having Bachelor's degree in a specialized subject.

D. Admission test to pre-service teacher preparation programs shall be conducted by the NCERT

E. A one year B.Ed course for students with 4-year undergraduate degree in a specialised subject will be the pre-
requisite for being a school teacher.

Choose the correct answer from the options given below:

fogsifeiRaa werwell 3 o= et il - 2020 @ an A 78 3 -

A. 4 ad o1 e dlus. fy - ygra Rl aafsiivr sommas 6t 2oft Sl st fencrr Pd1g1a dlar &t ogorast 3ot Aswrar et

B. it fafdrse fArgras forem Jivensii @1 2025 ao agfarerit el # ufafefa oo smasaes den

C. fafdrse Rl & Forrad 3aft arcr fenfefen o fere 2 ad @1 . us. urgaama

D. wat il 3R & @11 xar gd Pigros 1d1gm orRiayl 3 gaor aq el ol Hdrcrel fas1r sesn

E. fafdrse forerr 3f 4 addfa soirae 3ot aral fenf2Ril & fere ues ad o1 1. us. urgaad v fencrr g dlor & fore gd - smagae ord sl
il feu aru farmedl 3 A A8 IR D1 TRIel B :

[Question ID = 2869][Question Description = S2_qSNz_PG_GP42_Q44]

1. A, B and C only/dact A, B siiz C [Option ID = 11473]
2. A, Cand E only/@aet A, C aik E [Option ID = 11474]
3. B, Cand D only/d@aet B, C siiz D [Option ID = 11475]
4. B, D and E only/aact B, D siiz E [Option ID = 11476]

40) Match List | with List Il

List | List Il

ARTICLE SUBJECT

A Article 29 (1) I. Right to information

B. Article 19 (1)(A) Il. Equality of opportunity in educational institutions

C. Article 239 Ill. Free and compulsory education to all the children of age 6-14 years

D. Article 21 (A) IV. Education in Union Territories comes under the responsibility of the Central
government

Choose the correct answer from the options given below:

el -1 o1 3 -1l 2 Fafera Hifsre ¢

et -1 et -1l

(31g5e8%) (forerr)

A. sroreac 29 (1) (| Jaen @1 siffrer

B. sorcss 19 (1)

(A)

C. 3igesg 239 |l 6 - 14 ad o 18il sl ol IAop 3iR siforart A
IV. ©g IR®R D FRCIRKG D 3foddid 3Tl arcll 4 - I

D. 21 (A

arggeas 21 ( )%ﬁ@m
oif<l feu oru fpedl 3 A A8 3R gfore :

[Question ID = 2870][Question Description = S2_qSNz_PG_GP42_Q45]

Il. 9ifdres Jizemeil A rawaz & JAATeIar

A-ll,B-1,C-IV,D-lll [Option ID = 11477]
A-ll,B-IV,C-l,D-Ill [Option ID = 11478]
A-IV,B-lll, C-Il, D -I[Option ID = 11479]
A-lll,B-lI,C-IV,D-Il [Option ID = 11480]

A WN -

Topic:- GP42_D4_SH2_SET2_C

1) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours. So you see there has been little time to



learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years. Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying. We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like. Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forgarfeiRaea srerior oI ufeu siiz gestl & AR < -

TEIBICT IAIRT BT o1¥cl 31efl 3R &l 53l & HiID fadrRT 6 el A Ao AN AX: d5d BIC dICID; TS A6 D 1O19] & Ashfora! I Aleloll 3 5
gedl a2 sfgw (Siclifer) @ rasu 3 fooil YR @I siidel 61 3 3z 339 YdR @I Sildel cPmel drg Al fdferior ad yd er; fibeq osa dact o
Riferror ad A si¥dca 3 a1 3 3liz cPDFET 3116 oIk ad A arET &I 3 AT AR B 3 3ol D3I Dl AP SIEIPI YIH DIl Bidol 3; FARTT &
$od fIPra Jer @ uf¥dea 3 SE #rel i afe sa gedt uz Shifda QIR o1 sfeerT oo Al ad Al 3l AT BT G2 $IDIcT TIoT3PT U A
o 3 3k 33 e D el Al A IS € D HeA bl ARIAI B & 3 YR 314 urd 3 b siféera o1 sicareu 33 381 3 fbod daar siftera &
fe1u srurR FrRI RBrePN AT @ ARIATYYT fIBTA DIcT DI cIoIHLT AT Al 3116 HE HIoID2 8H IAD HIART DI 3Mdetol B2 Add 3 3reuid il sii I
@ i gofifera slor &t gon 3 s/ yedl uR Siidel @I enrvl ol 3l urest, Slell @ e PRI U Il &olR aH ®I Bl IR 3 37 JPR
HoTd 31Ul A% Sfidol et @ 3mRsT 3 &1 3 31z 311 Do 3 b a3l dga 3ifere 33 oIdl ol aifde AT BT YadIel wet Brerw: gufa: sereh
Sfia & siifer 281 3, a6 g 3R UGl eAADIol D BRI A o 281 3 531 A9 il A oft Ot SFafic o18l wwelt anfdu 5 Sodior A it ordl &t Sl

B DACT 3eToll D6 AD & b d DIft-PHR it DIE sroa BRI b sier

JHiold bl smmen et [icd? 334l yordl E & Asi ao b AR s1ucl Fazi @ o1 A Ml fera orer # 3l Yg oS 31w 3 Kot eIl olleT AR 31e AT
368 3GIuf B2 A1 SR 3R TSI S A8 A & {p lIsT SIfcril 3 e o181l Dl 3R b R Dl T oIl Dl &

The Scale which the author uses for representing time is:

TRA® W D forsuvt D fere DRI AT b1 YRIPT DA 8 a6 3 &

[Question ID = 2871][Question Description = S2_qSNz_PG_GP42_Q46]

1. One month = One million years/ve s = va Bifkrrer awf [Option ID = 11481]

2. One hundred years = Eight thousand years/ow it atf = s asm ad [Option ID = 11482]

3. One year = One million years/ue axf = v fiferrer adf [Option ID = 11483]

4. One month = Twelve hundred million years/vw sis = ars 3t Rirrer axf [Option ID = 11484]

2) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours. So you see there has been little time to
learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years. Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying. We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like. Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forgotferR3aa sterior ool ufeu 3iie Yool B IR S ©

E2BICT AT BT orxdt 313fl 3331 &l 53 & pidie fAprRT 6 #6681 A FAela A arqA: T5d BIC dIcID; TP Ale D 1919] 3 Jstforml o1 Hrelon & foo
gedl w2 sfgwm (Sicilfiber) @ Fasu d ol yor oI Sidet 31 3 3l 33 YR @I Siidol cemel drRe Al fHifermel ad yd er; fibeq dofsr dact v
fiferrer ad A sif¥aca 3 @1 3 ik cPREI 316 IR ad A aI&T & 3 AR A B 3 5ol D3I Dl AP SICIDI! YIH DIl Bidel 3; AT a1
$od ferd a1 & uf¥de i 3l wol cfifse AfS a1 gedi uz Shfda QiR @1 sferert v Al adf #Aer 3 Al AT BT YA YADICT TPBRT UD A6
o1 8 3z 3 A8 D SIIel AT A IS &He D HeA Bl ARIAT B & $A YR 30U Urd 3 b a1f2erar ot siereu Har1 381 8 fvoq daar aiftora @
fere srurR IR B Ao @ ARIATYUl fABTA DIcT D) TPMOI AT Al IS He AlGID? & IAD HIART DI iIderel B2 Abd 8 srerfa snfl siiz I
@ srcferes gofiferd slol &I gon 3 S gedl UR Sfidel oI AR o1&l 3l uIee, Sloll @ HEA TPTHRI Ud Al oIk aH ™I ©el IR 8 37 YPR
JTGT 31Ul AR Siidel PIcT D AR I 8l 3 312 IR Pooll & b & aga siferp 3Fflc o1l e aIRU  ITRI BT siADIcT Bl frcrp= gofa: sereht
Sila bl s1ifer 261 3, a6 Y 3IR Sl ePIPIol D PRI 3 fort 281 3 &1 94 cliell A st V2l SF9flc o1l ol anfde fop 3oslal A it o1él bt Sl



BH DAl Scloll B AD & b d DI-DUR Bl BIE 3101 DRI fbu Bier

ot bt s1ren e fdrenap: sl yoRdl b 3 st aw 6 AR uet Tl D It A oft fera @rar 3 A g S s1e 3 Rrord arl et A 31w ar
38 I61uf 2 T SR 3iiR SISt SI9 A8 A & b ot a1ferl 3 Aad ordl @ 3iik v g bl st ofdl wd 3

"We must not expect even civilized peoples not to have done these things". This observation suggests that:

" gdl 02t I39fic ordl el wfdu fop sl awm & Asa el of A e ol fpe gAY, 331 fevuvft @1 arcu=d 3 s :

[Question ID = 2872][Question Description = S2_qSNz_PG_GP42_Q47]
1. Civilized people have never done any fighting and bullying/3we ciieii of @t DI g 3l SA! e@TDIol BT Bl ol e 8 [Option ID = 11485]
2. Civilized people have also engaged in fighting and bullying/3s=1 clier sft SIS 3iRR S0l edDIol D el 4 Afer 38 & [Option ID = 11486]
3. There is nothing wrong in fighting and bullying/¥g 31 3&a! 3iiz Sl elreIol 3 BIS S ol & [Option ID = 11487]
4. Those who fight are uncivilized/cs1s @2l arel it sRw1 3l & [Option ID = 11488]

3) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours. So you see there has been little time to
learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years. Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying. We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like. Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forgotferR3aa sterior ool ufeu 3iie Yool B IR S ©

B2BICT AT BT orxdl 313fl 31331 &l 53 & Hidier fAprRT 6 £681 A FAela AN arqA: 95d BIC dIciD; TP Ale D 1919] 3 Jsmforml @1 Hrolon & foo
gedl w2 sfgwm (Sicilfiber) @ Fasu # ol yor oI Sidet 31 3 3l 33 YR @I Siidol cerel drRe Al fHifermel ad yd e, fibeq dofsr dact v
fiferrer ad A sif¥aca 3 @1 3 iz cPRPI 316 IR ad A aI&T &X 3 AT AW B 3 5ol D3I Dl AP SICIDI! YIH DIl Bidel 3; sAfTT a1
$od ferd a1 & uf¥des i 3l wol cfifse AfS a1 gedi uz Shifda QiR @1 sferert v Al adf e 3 A AT BT YA YADICT cPBFPT UD AlE
o1 8 3z 3 A8 D SIIel AT A IS &He D HEA Bl ARIAT B & $A YBR 30U UId 3 b a1f2orar ot sicreu Har1 381 8 fvoq daar aiftora @
fere srurR FerI Bl Ao @ ARIATYUl fABTA DIcT DY TPMOI AT Al IS HE AlGID? & IAUD HIART DI 3iIderel B2 Abd 3 srerfa spfl siiz It
@D srcferes gofiferd siol &I gon 3 S gedl UR Sfidel oI AR o1&l 3l uIee, Sloll @ HEA TPoHRI UMD Al oIk aH oI @el IR 8 37 YPR
JTGT 3TUol AR Siidcl PIcT D AR I 8 3 302 IR Pooll & b s aga siferp 3Fflc o8l xTen AR ITRI BT sicIDIcT Bl frcp= gufa: sereht
Sila bl s1ifer 261 3, a6 Yg 3IR Sl eRPIPIol D PRI 3 fort 281 3 &1 94 <ol A st Vil S39flc o1l xaolt anfde fop 3odlal A il o1él bt Sl
BH DACT ScToll Be AD & [ I DIft-PuR fpt BIE sroa BRI fpe sler

Jretd bl smren et [ 21l goRdl & 3 sl ao [ 3R srucl Fazi o o1 3 i e ora 3 3l gg oIS s1u 3 Riowl el et AR s1e AT

If one compares the existence of jelly-fish and man on earth, the man is:
afe oI caftp afgw (Sicliftbor) 3iiz s @ gedl uz sif¥dea &l getell wr & dl AT 3 ¢

[Question ID = 2873][Question Description = S2_qSNz_PG_GP42_Q48]
Almost of the same age as jelly-fish/cmommer 3t aa asf 3 Sz fep sfea & [Option ID = 11489]
Contemporary of jelly-fish/sfefe @1 3wi@refior [Option ID = 11490]

Very young to jelly-fish/sftj® 3 w8 8I¢t sy @1 [Option ID = 11491]

. Older than the jelly-fish/sfe 2 aifére smg 1 [Option ID = 11492]

A WN -

4) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours. So you see there has been little time to
learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or



eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years. Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying. We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like. Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forgotferRae sterior oot ufeu sii Yooll D IR S ©

TBIBICT AART BT o1¥cl 3nefl 3R & 3311 & Bfdrd fAprT 6 ewél 3 Ao/ AN dFdA: dgd BIC dIcId; BB A D O19] & dshfora! oI Aleloll 3 5
gedl uz sfgwm (Siciifiber) @ Fasu 3 fpdl yoR @I Sfiget @1 8 3R 33 YR P Sl cepiel dars Al Bifcrrel ad gd o1, fibeq Agiwr dddac e
fiferrer ad A sif¥aca 3 @1 3 iz cPBPEI 316 IR ad A aI&T &iq 3 AT A B 3 3ol D3I DI AP GBI YIH Dol Didol 3; AT a1
sos fIera Jera & uliew 3 Xl wArel i Aafe sa gedt ur Shifda gIfdrRI o1 sfeerRt was Al ad Arcrd 3 Al AT BT G2 DIl CIP1PT U HIE
o1 3z 37 A8 D Il AT A IS &He D HeA Bl ARIAT B & $A YR 30U U 3 b 1f2era ot srereu 91 81 8 fvoq daar st @
fere 3rurR IWRI BrePn oI @ ARIATYU] fPIA DIcT DI cPBPEI AT Al IS He HlGID? 8 3AD HIART BT MIdelel B2 AP 3 reria nfl siiz I
@ srcafera gefifera 2ol &I gom 3 st gedl uz Sitdael @1 Jen?ur oidl 8l urgaln, Jlell d> HERA el Y Al &Ik aY ®I ¢el AW & $ YR
HIoId 31Ul AR Sildol DIt D IRH I 8l 3 303 I Dooll 3 b & dgd siferm 3Hilc o181 e BT AIRT DI YcIdbIcl Bl frerrd: gula: sercil
Sita &I Hifer 31 3, 96 g 31k Sl LEIDIol B DRI I fe1d b1 & & A el A 1l Wl 3wiic o181 ol anfde b Iealol A st o1dl &I sel

B Ddcl cloll D AD & (b d PIN-DIR fp=il DS 3161 DRI fdbu sisT

Jretd &l s1ren et [P il goRrdl & 3 st ao 6 AR 3rucl Fazi o oI i it e e 3 <t gg oS s1u 3 Riowl el olieT AR s1¢ A1
303 31l 2 [ sr 3iiR 31reT S s A 3 fop st siferil 3 Aad ol w3 ub oI Hl s ol b B

From the point of view of the evolution, "human beings are very young children indeed.” The author says this, in order to
show that:

"BRIB faprT & el I Al avdd: T5d B IR D dICID 3 - ORAD DI A8 BT A G9Ifol d fere 3 b :-

[Question ID = 2874][Question Description = S2_qSNz_PG_GP42_Q49]

Very young children are not civilized/sga @91 31 & dreid 1A otdl 8t & [Option ID = 11493]

Evolution does not help civilized forward/afrs farar21 391 Y 3161 dGTol 3 AsRID oial alar 3 [Option ID = 11494]

Human beings have learnt very little in a very long time/<gd e JW@RI 3 Ar6ld ol 3icIcy 3ifepE yrd fipen & [Option ID = 11495]

Human beings are still at the beginning of their life on this earth/smera smsft oft so1 gedt uz smuer Sfider 6t amfires srazen 3 & & [Option ID = 11496]

A W N -

5) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours. So you see there has been little time to
learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years. Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying. We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like. Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forgatfeiRaa srerior oI ufeu siiz gestl & IR S -

TEIBICT AART BT o1¥cl 31efl 3R &l 53l & BiID fabrRT &Y el A Ao/ AN AX: dgd BIC dIcID; BB A D O19] & AsTford! BT Aleloll 3 I
gedl a2 sfgw (Siclifer) @ rasu 3 fepil ymr @I siidet 61 8 3z 339 YdR @I Sildel comeT dre Al fdferior ad gd er; fiveq Aopsa dact o
fiferrer ad 21 sif¥aca 3 a1 3 3R cPRPI 3116 &SIk ad I J1_T &1 3 A AJH B 3 3ol D3] Dl AP SIIDRI YIH Dol Bidel 3; sAfere a1
$od fPra Jer @ uf¥dew 3 SE #rer it afe sa gedt uz Shifda gIfori ot sfeerT oo Al ad At 3 Al AT BT G2 $IDbIcT TIPT3PT U A
o & 3k 33 e @ Slel Ald A IS € D HeA bl ARIAI B & 3 YR 314 urd 3 1 3iféera o1 sicireu A3 381 3 fbod daar sifitera &
fe1u srurR FrRI e AT @5 ARIATYYT fIBTA DIt DI CIoIHLT AT AT 3116 HE Al 8H IAD HIART DI 3Mdetol B2 Add 3 3reuia il siie I
@ srcafera gefifera ol &I gon 3 st gedl uz Silael @I Jer?vr oidl 8l ureeT, Jlell > #ERA BRI Yd Al &Ik au ™I Ol AR 3 5 YR
HIoTd 31Ul A Sfidel et @ 3mRe 3 & 3 3l 31 Do & b 33l aga 3ifere 33 oIdl ol aIfde AT BT YdDIel wet Brerd: gufa: sereht
Sfia &t siifer 2a1 3, a6 g 3R Sl eADIol D DRI 3 o 261 3 531 A9 <lill 2 oft V=t SFafic o18l wwaell anfdu 6 Iodior A it ordl &t Sl
BH DACT 3eToll B AD & b d DIft-PUR ot DIE sroa BRI b sier
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Why does the author say that there has been little time for man to learn?

cRAa® aRIl Dadl 3 [ =T B URT SifEeE & e sreacu A= 8 ?

[Question ID = 2875][Question Description = S2_qSNz_PG_GP42_Q50]

1. Man has to be busy in earning/are=1 @1 siféprr 3 b e & [Option ID = 11497]

2. Man has been busy in battles/ o1 st 9 98 == 81 & [Option ID = 11498]

3. Civilization process has just begun/ze=iar <t gfepen amsft amer &t a8 2 [Option ID = 11499]

4. Belief in the availability of plenty of time/w=ifa wrr &I 3ucteenar 4 faearr & [Option ID = 11500]






